Chrome and Brass Fittings

Inside This Section

Fittings
Pipe Fittings...........ccooovveiiiiieiiiiiiiiiii 70-71
Inverted Flare Fittings........................... 71-72
Compression Fittings..............cc............ 72-73
Special Fittings..............cccoovvvvevvvevernnnn. 73
Vacuum Connectors..........ccccccueeenee..... 74

Chrome and Brass
Fittings

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



Pipe Fittings
Straight Hose Barb Male Pipe

3/8
1/4
3/8
1/2

1/8
1/8
1/4
1/4

90TD-6 x 2
90TD-4 x 2
90TD-6 x 4
90TD-8 x 4

Pipe Fittings

7-90TD-6 x 2
7-90TD-4 x 2
7-90TD-6 x 4
7-90TD-8 x 4

Straight Hose Barb Male Pipe

3/16
1/4
1/4

5/16

5/16
3/8
3/8

Pipe
Size
1/8
1/8
1/4
1/8
1/4
1/8
1/4

Brass
Part #
90HB-3 x 2
90HB-4 x 2
90HB-4 x 4
90HB-5 x 2
90HB-5 x 4
90HB-6 x 2
90HB-6 x 4

Chrome
Part #
7-90HB-3 x 2
7-90HB-4 x 2
7-90HB-4 x 4
7-90HB-5 x 2
7-90HB-5 x 4
7-90HB-6 x 2
7-90HB-6 x 4

90° Hose Barb Male Pipe

Pipe Brass Chrome
Size Part # Part #

1/4
1/4
5/16
5/16
3/8
3/8
3/8

1/8
1/4
1/8
1/4
1/8
1/4
3/8

91HB-4 x 2
91HB-4 x 4
91HB-5 x 2
91HB-5 x 4
91HB-6 x 2
91HB-6 x 4
91HB-6 x 6

7-91HB-4 x 2
7-91HB-4 x 4
7-91HB-5 x 2
7-91HB-5 x 4
7-91HB-6 x 2
7-91HB-6 x 4
7-91HB-6 x 6

Street Elbows
Pipe Size

1/8
1/4
3/8

116PSE-2
116PSE-4
116PSE-6

7-116PSE-2
7-116PSE-4
7-116PSE-6

Street Elbows 45°
Pipe Size

1/8
1/4
3/8

124PSE-2
124PSE-4
124PSE-6

7-124PSE-2
7-124PSE-4
7-124PSE-6

Socket Pipe Plug
Pipe Size

1/8
1/4
3/8

107CSP-2
107CSP-4
107CSP-6

7-107CSP-2
7-107CSP-4
7-107CSP-6

Slotted Pipe Plug
Pipe Size

1/8
1/4
3/8

117SPP-2
117SPP-4
117SPP-6

7-117SPP-2
7-117SPP-4
7-117SPP-6

Hex Head Pipe Plug

121PP-2
121PP-4
121PP-6
121PP-8

7-121PP-2
7-121PP-4
7-121PP-6
7-121PP-8

Square Head Pipe Plug

Pipe Size Brass Part # Chrome Part #
1/8 109PP-2 7-109PP-2
1/4 109PP-4 7-109PP-4
3/8 109PP-6 7-109PP-6
1/2 109PP-8 7-109PP-8

Close Nipple

Pipe Size | Brass Part #

Chrome Part #
7-112PCN-2
7-112PCN-4
7-112PCN-6

Chrome Part #

7-113PLN-2 x 1.5

7-113PLN-2 x 2

7-113PLN-2 x 2.5

7-113PLN-2 x 3

7-113PLN-4 x 1.5

7-113PLN-4 x 2

7-113PLN-4 x 2.5

7-113PLN-4 x 3

7-113PLN-6 x 1.5

7-113PLN-6 x 2

1/8 112PCN-2
112PCN-4
112PCN-6

Long Nipple

Pipe Size Brass Part #
1/8x11/2 |113PLN-2x 1.5
1/8 x 2 113PLN-2 x 2
1/8x21/2 |113PLN-2x 2.5
1/8x3 113PLN-2 x 3
1/4x11/2 |113PLN-4x 1.5
1/4 x 2 113PLN-4 x 2
1/4x21/2 |113PLN-4 x 2.5
1/4 x 3 113PLN-4 x 3
3/8x11/2 [113PLN-6 x 1.5
3/8 x 2 113PLN-6 x 2
Hex Nipple

Pipe Size Brass Part #

1/8 122PHN-2

1/4 122PHN-4

3/8 122PHN-6

Chrome Part #

7-122PHN-2
7-122PHN-4
7-122PHN-6

Hex Reducing Nipple
Pipe Size | Brass Part # | Chrome Part #

1/4 x1/8 123PRN-4 x 2 | 7-123PRN-4 x 2
3/8 x 1/4 123PRN-6 x4 | 7-123PRN-6 x 4
Adapter

Pipe Size | Brass Part # Chrome Part #
1/8 x 1/8 120PA-2 x 2 7-120PA-2 x 2
1/4 x 1/8 120PA-4 x 2 7-120PA-4 x 2
1/4 x 1/4 120PA-4 x 4 7-120PA-4 x 4
3/8 x 1/4 120PA-6 x 4 7-120PA-6 x 4




Pipe and Inverted Flare Fittings

Pipe Bushing Inverted Flare Fittings
Pipe Size

Brass Inverted Flare Tube Nut
1/4 x 1/8 | 110PB-4 x 2 | 7-110PB-4 x 2 SN
3/8x1/8 |110PB-6 x 2 | 7-110PB-6 x 2 s Y
3/8x1/4 |110PB-6 x 4 | 7-110PB-6 x 4 Q‘
1/2x 1/4 | 110PB-8 x 4 | 7-110PB-8 x 4

41INB-3 7-41INB-3

- ) ) 41INB-4 | 7-41INB-4
1/2x3/8 | 110PB-8 x 6 | 7-110PB-8 x 6 HiNee | oaiNee
41INB-6 | 7-41INB-6

Pipe Thread Lock Nut

Pipe Size
118 T1PLN-2 | 7-111PLN-2 <
1/4 111PLN-4 | 7-111PLN-4 s oD | Brase |
3/8 111PLN-6 | 7-111PLN-6 ’ Sl
7-41INL-4
Pipe Tee

Pipe Size

Inverted Flare Male Connectors

1/8 101PT-2 7-101PT-2 0.D. | 0.D.
1/4 101PT-4 7-101PT-4 Tube | Pipe
3/8 101PT-6 7-101PT-6 3/16 | 1/8 | 48IC-3x2 | 7-48IC-3x2

114 | 1/8 | 48IC-4x2 | 7-48IC-4 x 2
- 5116 | 1/8 | 48IC-5x2 | 7-48I1C-5x 2
Pipe Street Tee 5116 | 1/4 | 481C-5x4 | 7-48I1C-5x 4

Pipe Size 3/8 | 1/8 | 48I1C-6x2 | 7-48IC-6 x 2
3/8 | 1/4 | 481C-6x4 | 7-48IC-6 x4
1/8 127PT-2 7-127PT-2
1/4 127PT-4 7-127PT-4
3/8 127PT-6 7-127PT-6 Inverted Flare Male Elbow
o.D. | o.D. Brass | Chrome
. Tube | Pipe Part # Part #
Straight Heater Hose Barb | 316 | 1/8 | 49IE-3x2 | 7-491E-3 x 2

1/4 | 1/8 | 49IE-4x2 | 7-49IE-4x2
5/16 | 1/8 | 49IE-5x2 | 7-49IE-5x 2
5/16 | 1/4 | 49IE-5x4 | 7-49IE-5x 4
3/8 | 1/8 | 49IE-6x2 | 7-49IE-6x 2
3/8 | 1/4 | 49IE-6x4 | 7-49IE-6x4

Hose|Pipe Brass

Size Part #
5/8 | 3/8 |68HHB-10 x 6|7-68HHB-10 x 6
5/8 | 1/2 |68HHB-10 x 8|7-68HHB-10 x 8
3/4 | 1/2 |68HHB-12 x 8|7-68HHB-12 x 8
3/8 | 3/8 |68HHB-6 x 6 |7-68HHB-6 x 6
1/2 | 3/8 |68HHB-8 x 6 |7-68HHB-8 x 6

Inverted Male Rigid Hose Barb
0.D. Brass | Chrome

Tube Part # Part # &

1/4 | 1/4 | 93HB-4 x4 | 7-93HB-4 x 4 &)
1/4 |5/16 | 93HB-4 x5 | 7-93HB-4 x 5 /
5/16 | 1/4 | 93HB-5x 4 | 7-93HB-5x 4 /
5/16 | 5/16 | 93HB-5x 5 | 7-93HB-5x 5 Ao

5/16 | 3/8 | 93HB-5x6 | 7-93HB-5x 6
3/8 |5/16 | 93HB-6 x5 | 7-93HB-6 x 5

Hose|Pipe Chrome
Size | Size Part #

5/8 | 1/2 | 7-68HHBL-10 x 8

AQglieatoriHose Barb Inverted Flare Reducing Nut

Hose|Pipe

i Size

5/8 | 3/8 |69HHB-10 x 6|7-69HHB-10 x 6

5/8 | 1/2 |69HHB-10 x 8|7-69HHB-10 x 8 3/16 | 1/4 [41INR-3x4 |7-41INR-3x 4 ?
3/4 | 1/2 |69HHB-12 x 8|7-69HHB-12 x 8 3/16 | 5/16 [41INR-3x 5  [7-41INR-3x 5 Wgts
3/8 | 3/8 |69HHB-6 x 6 |7-69HHB-6 x 6 3/16 1 9/16 |41INR-3 x 9/16 | 7-41INR-3 x 9/16 (=

1/2 | 3/8 |69HHB-8 x 6 |7-69HHB-8 x 6 ) 1/4 [9/16 |41INR-4 x 9/16 | 7-41INR-4 x 9/16




Inverted and Special Fittings

Compression Fittings Brass

Compression Sleeve

41INS-3 7-41INS-3

41INS-4 7-41INS-4 Q,
41INS-5 7-41INS-5
41INS-6 7-41INS-6 1/8 6460CS-2
3/16 6460CS-3
1/4 6460CS-4
5/16 6460CS-5
Inverted Flare Steel Plug 3/8 64600S-6

0O.D. Tube

3/16 W131-3 | 7-w131-3
1/4 W131-4 | 7-W131-4 ;
5/16 W131-5 | 7-W131-5 Compression Nut
3/8 W131-6 | 7-W131-6 0.D. Tube
1/8 61CN-2 | 7-81CN-2
: 3/16 61CN-3 | 7-61CN-3
Inverted Flare Union Tee 14 oioNg | 7e1oN4
0.D. Tube | 5/16 61CN-5 7-61CN-5
3/8 61CN-6 | 7-61CN-6
3/16 W702-3 | 7-w702-3
1/4 W702-4 | 7-W702-4
5/16 W702-5 | 7-W702-5
Compression Tube Inserts
Inverted Flare Brake Line Union OD. Tube | Part#

0O.D. Tube
1/8 60TI-2
3/16 421U-3 7-421U-3 3/16 60TI-3
1/4 421U-4 7-421U-4 1/4 60TI-4
5/16 421U-5 7-421U-5 5/16 60TI-5
3/8 421U-6 7-421U-6 3/8 60T1-6

Brake Line Tee Mount Inverted Flare

O.D.Tube| Brass | Chrome Compression Full Union

Part #

0O.D. Tube Brass Chrome
3/16 W7812 7-W7812 Part # Part #
1/4 W7765 7-W7765 7-62CU-2
3/16 62CU-3 7-62CU-3
1/4 62CU-4 7-62CU-4
2 . 5/16 62CU-5 7-62CU-5
Metric Brake Line Adapter 3/8 62CU-6 7-62CU-6
Inverted Female x Male Brass Chrome
Thread Part # Part #
3/16 std 10mm x 1.0 202M-10 | 7-202M-10
10mmx1.0x 11fmm x 1.5 | 202M-11 | 7-202M-11
10mmx 1.0 x 12mm x 1.0 | 202M-12 | 7-202M-12 Compression 3 Way Tee

10mm x 1.0 x 13mm x 1.5 | 202M-13 | 7-202M-13

0.D. Tube Brass Chrome

Part # Part #
1/8 64CT-2 7-64CT-2
Inverted Flare Male Branch Tee B 3/16 64CT-3 7-64CT-3
: 1/4 64CT-4 7-64CT-4

S B Ch

12¢ | Pt | A 5/16 64CT5 | 7-64CT5
3/8 64CT-6 7-64CT-6

3/16 W600-3 x 2| 7-W600-3 x 2
1/4 W600-4 x 2| 7-W600-4 x 2
5/16 W600-5 x 2| 7-W600-5 x 2
3/8 W600-6 x 4| 7-W600-6 x 4




Chrome and Brass Fittings

Compression Male Connector Hose Tee
Brass Chrome
0.D. Tube Part # Part #

1/8x1/8 | 68CC-2x 2| 7-68CC-2 x 2 1/4 | 94HBT-4 | 7-94HBT-4
3/16 x 1/8 | 68CC-3 x 2 | 7-68CC-3 x 2 5/16 | 94HBT-5 | 7-94HBT-5
1/4 x1/8 | 68CC-4x2 | 7-68CC-4 x 2 3/8 | 94HBT-6 | 7-94HBT-6
1/4 x1/4 | 68CC-4 x4 | 7-68CC-4 x 4
5/16 x 1/8 | 68CC-5x 2 | 7-68CC-5 x 2
5/16 x 1/4 | 68CC-5x 4 | 7-68CC-5 x 4
3/8x1/8 | 68CC-6x2|7-68CC-6x 2
3/8x1/4 | 68CC-6 x4 | 7-68CC-6 x 4
3/8x3/8 | 68CC-6 x6 | 7-68CC-6 x 6
1/2x1/4 | 68CC-8 x4 | 7-68CC-8 x 4

Transmission Adapter

Inv. Flare Brass Chrome
] Str. Pipe Part # Part #
Compression Male Elbow 5/16 x 1/8
Brass Chrome
0.D. Tube | Part # | Part #

1/8x1/8 | 69CE-2x 2 | 7-69CE-2 x 2
3/16 x 1/8 | 69CE-3 x 2 | 7-69CE-3 x 2
1/4 x1/8 | 69CE-4 x 2 | 7-69CE-4 x 2
1/4 x1/4 | 69CE-4 x4 | 7-69CE-4 x 4
5/16 x 1/8 | 69CE-5x 2 | 7-69CE-5 x 2
5/16 x 1/4 | 69CE-5 x 4 | 7-69CE-5 x 4
3/8x1/8 | 69CE-6x 2 | 7-69CE-6 x 2
3/8x1/4 | 69CE-6 x4 | 7-69CE-6 x 4

3/8 x3/8 | 69CE-6 x6 | 7-69CE-6 x 6 Metric Brake Union

Thread/Flare

3/16 Std/Bubble 3 300B-3 [7-300B-3
10mm x 1.0 Standard| 300M-3 | 7-300M-3
10mm x 1.0 Bubble 2 |300MB-3 | 7-300MB-3

Special Fittings

Dual Brake Reducing Adapter

Brass Chrome

3/16 x 1/4 203-3x4 | 7-203-3x4

3/16 x 5/16 203-3x5 | 7-203-3x5

1/4 x 3/16 203-4x3 | 7-203-4x3 Hose Splicer

1/4 x 5/16 203-4x5 | 7-203-4x5

5/16 x 1/4 203-5x4 | 7-203-5x4 Hose/Hose| Brass | Chrome
5/16 x 3/8 203-5x6 | 7-203-5x6 Part # Part #
3/8 x 5/16 203-6 X 5 7-203-6 x 5 3/16 x 3/16 | 92HB-3 x 3 | 7-92HB-3 x 3
1/4 x 1/4 (9/16-18) 203-7908 | 7-203-7908 1/4 x1/4 | 92HB-4 x 4 | 7-92HB-4 x 4

5/16 x 5/16
3/8 x 3/8

92HB-5 x5 | 7-92HB-5x 5

3/16 x 3/16 (9/16-20) | 203-7910 7-203-7910
92HB-6 x 6 | 7-92HB-6 x 6

3/16 x 3/16 ( 9/16-18) | 203-7911 7-203-7911
3/16 (9/16-18) x 5/16 | 203-7912 7-203-7912
3/16 (1/2-20)x 3116 (916-18)]  203-7913 7-203-7913

5/16 x 5/16 w/seal 203F-1074 | 7-203F-1074
1/4 x 5/16 w/seal 203F-7727 | 7-203F-7727
1/4 x 7/16-20 w/seal 203F-7732 | 7-203F-7732
3/16 x 5/16 w/seal 203F-7817 | 7-203F-7817

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



Chrome and Brass Fittings

Drain Cocks Vacuum Connectors

N

Chrome # .
>

7-326DC-4

Size| Brass#

Vacuum Hose Splicer Plastic
1/4 | 326DC-4

Hose/Hose Part #

3/8-24 x 1 1/8
5/16-24 x 1
1/4-28 x 1
8mm x 1.25 x 23.8 | 45-9405
10mm x 1.5 x 27.5 | 45-9406

Grease Fittings

Vacuum Hose Elbow Plastic

Hose/Hose

3/16 x 3/16
3/16 x 1/8
3/16 x 1/4
1/4 x 1/4

64NE-3
64NE-3 x 2
64NE-3 x 4
64NE-4

1/8x 1/8 | 62NU-2
3/16 x 3/16 | 62NU-3
14 x 1/4 | 62NU-4
5/16 x 5/16 | 62NU-5
3/8x3/8 |62NU-6 )
3/16 x 1/8 | 62NUR-3 x 2 (
3/16 x 1/4 | 62NUR-3 x 4
1/4x1/8 |62NUR-4 x 2

3/8-24 x 1 1/2 1/4 x 3/18 | 62NUR-4 x 6

1/4-28 45° (Chrome) | 57546
1/4-28 Straight 57547
1/4-28 Straight-Long | 57547-L :
1/4-28 90° 57548 Vacuum Hose Tee Plastic
S e
1/8 Str;'alght 57550 1/8 B4ANT-2
178 90" e 500t 3/32 BANT-2.5
e e 1/8 x 3/16 x 1/8 | BANT-2 x 3 x 2
1/4-28 Straight 88547
1/8 Straight 88610 T CAE
1/8 90° 85613 3/16 x 1/8 x 3/16| 64NT-3 x 2 x 3
1/8 45° s 3/16 x 3/16 x 1/8| 64NT-3 x 3 x 2
3/16 x 1/4 x 3/16| 64NT-3 x 4 x 3
1/4 64NT-4
1/4 X 1/4 X 3/16 | 64NT-4 x 4 x 3
5/16 64NT-5
3/8 64NT-6
3/8 x 3/8 x 1/4__| 64NT-6 x 6 x 4

Steel Brake Line Coil
Size | Part #

316 | 64542 Vacuum Rubber Caps

1/8 64CAP-2
5/32 64CAP-2.5
3/16 64CAP-3
1/4 64CAP-4
5/16 64CAP-5
3/8 64CAP-6

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



Product Display Units

Inside This Section

Detail Listing on each Unit ﬂ
J1POP-1 Hex Caps and Hex Nuts (Chrome Plated).............ccuueeeeueeerneeennn. 76 "5 C
J1POP-2 Washers, Body Bolts and Pipe Plugs (Chrome Plated).................. 76 - >
J1POP-3 Oval Phillips, Slotted Machine and Sheet Metal Screws T >
(Chrome Plated). ... euuuuueesenssaenesssssaesasannssassnnsssssnnnnnssannnnnns 77 E ‘_U
J1POP-4 Button Head, Carriage Bolts and Lock Nuts (Chromed Plated)......... 77 0. Q.
J1POP-5 Brass Fittings Hand Polished (Chrome Plated)...................evee.. 78 1)
LOGO DISPLAYERS Counter Top Unit with Stamped Hex Caps.............. 78 D
J1POP-6 Ford and Chrysler Mopar Bolt Kits (Chrome & Polished Stainless). ...... 79
J1POP-7 Chevy Kits and Bowtie Stamped BOItS................cccccceeveeevivernaannn. 80
J1POP-8 Chevy Bowtie and Ford Oval Stamped Bolts Kits..................... 81
J1POP-9 Chevy, Ford and Mopar KitS..............ccuueeeeeueeeerieasennaaennnnnn. 82
JTPOP-10 Metric Screw Kits (Chrome Plated)...........ueeeueeeueeensersieeneeesaeennss 83
J1POP-11 Ford Oval Stamped Bolt Kits (Chrome Plated & Polished Stainless)..... 84
JT1POP-12 Metric Screw Kits (Stainless Stel).......uuwueeesieeesisaeireiaineienanannns 85
J1POP-14 Ford & Ford Oval Stamped Bolt Kits (Chrome Plated).................. 86
J1POP-15 Ford Oval Stamped Bolt KitS (Chrome Plated)...........veueeuereeneens. 86
J1POP-16 Pontiac Arrow Stamped Bolt Kits (Chrome Plated)...................... 87
J2POP-1 Combination of JIPOP-1 & J1POP-2 Units (Chrome Plated).......... 88
J2POP-2 Combination of JIPOP-3 & J1POP-4 Units (Chrome Plated)........... 89
J2POP-3 Nuts, Washers, Button Heads, Hex Caps, Lock Nuts
& Sheet Metal SCrews (Polished Stainless). ... uueeeereeeeeeeesesenenens. 90

&

Authorized Dealer

=ty O

Hex Caps and Hex Nuts
Chrome Plated
#J1POP-1 Full Floor Unit

P Logo Stamped
Counter Top Display Unit

What a simple way to organized and showcase your
chrome plated and stainless steel fastener products.

m Increases product visibility.

m Contains the most popular sizes sought after by auto enthusiasts.
m Allows wider range of product in least amount of space.

m Simple to stock and reorder.

m Customizing available to fit your needs.

Brass Fittings Chrome Plated
#J1POP-5 Counter Top Unit

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



J1POP-1 Hex Caps & Hex Nuts - contains (48) items in chrome and (2) ea.
carded Kkits of the following fasteners:

Kit Part # Description Qty. per card Kit Part # Description Qty. per card Kit Part # Description Qty. per card
J0012 - 1/4-20 x 1/2 Hex Caps (4) J0108 - 3/8-16 x 1 1/2 Hex Caps (4) J0765 - 10/24 Hex Nuts (12)
J0016 - 1/4-20 x 3/4 Hex Caps (4) J0110 - 3/8-16 x 1 3/4 Hex Caps (4) J0766 - 10/32 Hex Nuts (12)
J0020 - 1/4-20 x 1 Hex Caps (4) J0112 - 3/8-16 x 2 Hex Caps (4) J0768 - 1/4-20 Hex Nuts (15)
J0050 - 5/16-18 x 5/8 Hex Caps (4) J0114 - 3/8-16 x 2 1/4 Hex Caps (4) J0769 - 1/4-28 Hex Nuts (15)
J0052 - 5/16-18 x 3/4 Hex Caps (4) J0116 - 3/8-16 x 2 1/2 Hex Caps (4) J0770 - 5/16-18 Hex Nuts (13)
J0053 - 5/16-24 x 3/4 Hex Caps (4) J0118 - 3/8-16 x 2 3/4 Hex Caps (3) JO771 - 5/24-24 Hex Nuts (13)
J0056 - 5/16-18 x 1 Hex Caps (4) J0120 - 3/8-16 x 3 Hex Caps (3) J0772 - 3/8-16 Hex Nuts (11)
J0059 - 5/16-18 x 1 1/4 Hex Caps  (4) J0148 - 7/16-14 x 1 Hex Caps (3) JO0773 - 3/8-24 Hex Nuts (11)
J0065 - 5/16-18 x 2 Hex Caps (4) J0150 - 7/16-14 x 1 1/4 Hex Caps  (3) J0774 - 7/16-14 Hex Nuts (7)
J0068 - 5/16-24 x 2 1/4 Hex Caps  (4) J0156 - 7/16-14 x 2 Hex Caps (3) JO775 - 7/16-20 Hex Nuts (7)
J0069 - 5/16-18 x 2 1/2 Hex Caps  (4) J0184 - 1/2-13 x 1 Hex Caps (3) JO0776 - 1/2-13 Hex Nuts (6)
J0098 - 3/8-16 x 3/4 Hex Caps (4) J0188 - 1/2-13 x 1 1/2 Hex Caps (3) JO777 - 1/2-20 Hex Nuts (6)
J0099 - 3/8-24 x 3/4 Hex Caps (4) J0189 - 1/2-20 x 1 1/2 Hex Caps (3) JO0778 - 9/16-12 Hex Nuts (5)
J0102 - 3/8-16 x 1 Hex Caps (4) J0192 - 1/2-13 x 2 Hex Caps (3) JO0779 - 9/16-18 Hex Nuts (5)
J0103 - 3/8-24 x 1 Hex Caps (4) J0196 - 1/2-13 x 2 1/2 Hex Caps (3) J0780 - 5/8-11 Hex Nuts (5)
J0106 - 3/8-16 x 1 1/4 Hex Caps (4) J0197 - 1/2-20 x 2 1/2 Hex Caps (3) J0781 - 5/8-18 Hex Nuts (5)

Q

J1POP-2 Washers, Body Bolts & Pipe Plugs - contains (48) Items in chrome
and (2) ea. carded kits of the following:

Kit Part # Description Qty. per card Kit Part # Description Qty. per card Kit Part # Description Qty. per card
J0852 - #10 Flat Washers (14) J0876 - 5/16 AN Washers (11) J2229 - 5/16 x 13/16 Pol. Body Bolts  (4)
J0854 - 1/4 Flat Washers (15) J0877 - 3/8 AN Washers (10) J2230 - 5/16 x 1 1/4 Pol. Body Bolts  (3)
J0855 - 5/16 Flat Washers  (13) J0878 - 7/16 AN Washers (8) J2255 - 1/4-20 x 7/8 Hex Sems (4)
J0856 - 3/8 Flat Washers (11) J0879 - 1/2 AN Washers (7) J2256 - 5/16-18 x 1 Hex Sems (4)
J0857 - 7/16 Flat Washers  (10) J0880 - 9/16 AN Washers (6) J2257 - 3/8-16 x 3/4 Hex Sems[] (3)
J0858 - 1/2 Flat Washers (9) J0881 - 5/8 AN Washers (6) J2258 - 3/8-16 x 1 Hex Sems (3)
J0859 - 9/16 Flat Washers  (8) J2250 - 3/8 x 1 1/4 Shock Washers (4) J2259 - 3/8-16 1 1/2 Hex Sems (3)
J0860 - 5/8 Flat Washers (8) J2251 - 1/2 x 1 1/4 Shock Washers (4) J2261 - 1/4-20 x 5/8 Spin Locks (6)
J0865 - 1/4 Lock Washers  (15) J2252 - 1/2 x 1 7/16 Shock Washers (4) J2262 - 5/16-18 x 3/4 Spinlocks (4)
J0866 - 5/16 Lock Washers  (13) J2253 - 5/8 x 1 1/4 Shock Washers (4) J2263 - 5/16-18 x 1 Spinlocks (4)
J0867 - 3/8 Lock Washers  (11) J2223 - 5/16-18 x1 SS Body Bolts (1) J2264 - 5/16-18 X 1 1/4 Spinlocks (4)
J0868 - 7/16 Lock Washers  (10) J2224 - 14 x 3/4 Body Bolts 3/8 AF (10) J2265 - 3/8-16 x 1 Spinlocks (3)
J0869 - 1/2 Lock Washers 9) J2225 - 14 x 3/4 Pol. Body Bolts 3/8 AF  (9) J2266 - 5/16-24 x 1 Spinlocks (5)
J0870 - 9/16 Lock Washers  (8) J2226 - 14 x 3/4 Body Bolts 7/16 AF 9) J2267 - 3/8 Pipe Plugs (3)
J0871 - 5/8 Lock Washers (8) J2227 - 5/16 x 13/16 Body Bolts (7) J2268 - 1/2 Pipe Plugs (2)

J0875 - 1/4 AN Washers (12) J2228 - 5/16 x 1 1/4 Body Bolts 4) J2269 - 3/4 Pipe Plugs 2)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P Unit Decriptions

COUNTER ToOP UNITS

J1POP-3 Oval Slotted & Phillips Machine Screws - contains (48) items in
chrome and (2) ea. carded kits of the following fasteners:

Kit Part # Description Qty. per card Kit Part # Description Qty. per card Kit Part # Description Qty. per card
J0982 - 6/32 x 3/8 Oval Slot MS () J1020 - 12/24 x 1 Oval Slot MS (4) J1298 - 8 x 3/4 Oval Phillips SMS (6)
J0983 - 6/32 x 1/2 Oval. SI. MS (5) J1025 - 1/4-20 x 1 Oval. SI. MS (6) J1299 - 8 x 3/4 Oval. Ph. #6 Hds. SMS  (6)
J0985 - 6/32 x 3/4 Oval. SI. MS (5) J1036 - 5/16-24 x 1 Oval. SI. MS (5) J1300 - 8 x 7/8 Oval. Ph. SMS (6)
J0986 - 6/32 x 1 Oval. SI. MS (5) J1157 - 10/32 x 3/8 Oval. Ph. MS (6) J1301 -8 x 7/8 Oval. Ph. # 6 Hds. SMS  (6)
J0992 - 8/32 x 1/2 Oval. SI. MS (7) J1159 - 10/32 x 1/2 Oval. Ph. MS (6) J1302 - 8 x 1 Oval. Ph. SMS (6)
J1001 - 10/24 x 1/2 Oval. SI. MS  (6) J1162 - 10/24 x 3/4 Oval. Ph. MS (6) J1303 - 8 x 1 Oval. Ph. # 6 Hds. SMS (6)
J1002 - 10/32 x 1/2 Oval. SI. MS  (6) J1163 - 10/32 x 3/4 Oval. Ph. MS (6) J1304 - 8 x 1 1/4 Oval. Ph. SMS (6)
J1005 - 10/24 x 3/4 Oval. SI. MS  (6) J1166 - 10/24 x 1 Oval. Ph. MS (6) J1305-8 x 1 1/4 Oval. Ph. # 6 Hds. SMS  (5)
J1006 - 10/32 x 3/4 Oval. SI. MS  (6) J1167 - 10/32 x 1 Oval. Ph. MS (6) J1306 - 8 x 1 1/2 Oval. Ph. SMS (5)

J1008 - 10/32 x 1 Oval. SI. MS (6) J1182 - 1/4-20 x 3/4 Oval. Ph. MS  (6) J1307 -8 x 1 1/2 Oval. Ph. # 6 Hds. SMS  (5)
J1010 - 10/32 x 1 1/4 Oval. SI. MS  (4) J1183 - 1/4-20 x 1 Oval. Ph. MS (6) J1308 - 8 x 3/4 Oval. Ph. #6 Hds. SMS  (4)

J1012-10/32 x 1 1/2 Oval. SI. MS  (4) J1186 - 1/4-20 x 1 1/2 Oval. Ph. MS  (6) J1309 - 8 x 3/4 Oval. Ph. SMS (6)
J1013 - 10/32 x 1 3/4 Oval. SI.. MS  (4) J1294 - 8 x 1/2 Oval. Ph. SMS (6) J1310 - 8 x 2 Oval. Ph. SMS (5)
J1014 - 10/32 x 2 Oval. SI. MS (4) J1295 - 8 x 1/2 Oval. Ph. HD SMS  (6) J1311 -8 x 2 Oval. Ph. # 6 Hds. SMS (4)
J1017 - 12/24 x 1/2 Oval. SL MS  (4) J1296 - 8 x 5/8 Oval. Ph. SMS (6) J1315 - 10 x 3/4 Oval. Ph. SMS (7)
J1019 - 12/24 x 3/4 Oval SI. MS  (4) J1297 - 8 x 5/8 Oval. Ph. #6 Hds. (6) J1317 - 12 x 1 Oval. Ph. SMS (4)

2 %)
J1POP-4 Button Heads, Carriage Bolts & Super Washers - contains (48) items in
chrome and (2) ea. carded kits of the following:

Kit Part # Description Qty. per card Kit Part # Description Qty. per card Kit Part # Description Qty. per card
J0535 - 8/32 x 1/2 Button Heads  (4) J0618 - 3/8-16 x 1 1/2 Btn. Hds. (2) J0891 - 1/4 x 1 1/2 Carriage Bolts w/HN  (4)
J0546 - 10/24 x 1/2 Btn. Hds. (4) J0793 - 1/4-20 Lock Nuts (8) J0901 - 5/16 x 1 Carriage Bolts w/HN (4)
J0547 - 10/32 x 1/2 Btn. Hds. (4) J0794 - 1/4-28 Lock Nuts (8) J0903 - 5/16 x 1 1/2 Carriage Bolts w/HN  (4)
J0550 - 10/24 x 3/4 Btn. Hds. (4) J0795 - 5/16-18 Lock Nuts (8) J0914 - 3/8-16 x 1 Carriage Bolts w/HN (4)
J0551 - 10/32 x 3/4 Btn. Hds. (4) J0796 - 5/16-24 Lock Nuts (8) J0917 - 3/8-16 x 2 Carriage Bolts w/HN (4)
J0564 - 1/4-20 x 1/2 Btn. Hds. (4) J0797 - 3/8-16 Lock Nuts (6) J0918 - 3/8 x 2 1/2 Carriage Bolts w/HN  (3)
J0568 - 1/4-20 x 3/4 Btn. Hds. (4) J0798 - 3/8-24 Lock Nuts (6) J0926 - 7/16-14 x 1 1/4 Cge. Bolts w/HN  (3)
J0572 - 1/4-20 x 1 Btn. Hds. (4) J0799 - 7/16-14 Lock Nuts (5) J0928 - 7/16-14 x 1 3/4 Cge. Bolts w/HN  (3)
J0574 - 1/4-20 x 1 1/4 Btn. Hds. (4) J0800 - 7/16-20 Lock Nuts (5) J0938 - 1/2-13 x 1 3/4 Cge. Bolts w/HN 3)
J0588 - 5/16-18 x 3/4 Btn. Hds. (4) J0801 - 1/2-13 Lock Nuts (5) J2271 - 3/16 x 1 Super Washers (5)
J0589 - 5/16-24 x 3/4 Bin. Hds. (4) J0802 - 1/2-20 Lock Nuts (5) J2272 - 1/4 x 1 Super Washers (5)
J0592 - 5/16-18 x 1 Btn. Hds. (4) J0803 - 9/16-12 Lock Nuts (4) J2273 - 5/16 x 1 1/8 Super Washers (5)
J0593 - 5/16-24 x 1 Btn. Hds. (4) J0804 - 9/16-18 Lock Nuts (4) J2274 - 5/16 x 1 1/2 Super Washers (4)
J0596 - 5/16-18 x 1 1/2 Btn. Hds.  (3) J0805 - 5/8-11 Lock Nuts (4) J2275 - 3/8 x 1 1/2 Super Washers (4)
J0610 - 3/8-16 x 3/4 Btn. Hds. (4) J0806 - 5/16-16 Lock Nuts (4) J2276 - 7/16 x 1 Super Washers (6)
J0614 - 3/8-16 x 1 Btn. Hds. (4) J0888 - 1/4 x 3/4 Carriage w/HN (4) J2277 - 1/2 x 1 1/4 Super Washers (6)

T
2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



J1POP-5 Polished Brass Fittings Show Chrome Plated -

P.O.P. Unit Descriptions

COUNTER TOP UNITS =

contains (47) items in chrome and (3) ea. carded kits of the following fasteners:

Gardner-Westcott took the standard brass fitting and hand polished it to a smooth mirror finish,
than we Show Chrome Plated it. We then carded our hottest selling parts to create this counter top
display unit. This turnable display unit contains 3 each of 47 different carded skin packed items.

Heater Hose Barb 90°
J9001 5/8" Hose 1/2" Pipe (3)
J9002 5/8" Hose 3/8" Pipe (3) J
Heater Hose Barb Straight
J9003 5/8" Hose 1/2" Pipe (3)
J9004 5/8" Hose 3/8" Pipe (3)
J9005 3/4" Hose 1/2" Pipe (3)

Authorized Dealer

Hex Head Pipe Plugs Counter Top
J9006 1/2" (3) Display Unit
J9007 3/8" (3)
J9008 1/4" (3)
J9009 1/8" (3)

Inverted Flare Fittings

J9010 3/16" Tube 1/8" Pipe 45° Male Elbow (3)
J9011 3/16" x 1/4" Reducing Nut (3)

J9023 1/8" Tube Nut Steel (3)

J9024 Brake Line Union 3/16" (3)0)

J9040 3/16" Flare 1/8" Pipe Male Connector (3)
J9041 3/16" x 1/8" Inv. Flare Female Branch Tee (3)

Transmission Adapter
J9012 5/16" x 5/16" Inv. Flare Trans. Adapter (3)
J9013 3/8" x 3/8" Inv. Nut Trans. Adapter (3)

Socket Pipe Plugs

J9014 1/8" Socket Pipe Plugs (3)
J9015 1/4" Socket Pipe Plugs (3)
J9016 3/8" Socket Pipe Plugs (3)
J9017 1/2" Socket Pipe Plugs (3)

Pipe Bushing
J9018 1/4" x 1/8" (3)
J9019 3/8" x 1/8" (3)
J9020 3/8" x 1/4" (3) Part # J1POP-5
Hand Polished Brass Fittings
Street Elbow Fittings Show Chrome Plated
J9021 1/8" (3) Contains (3) each carded of 47 Items

J9022 1/4" (3)

Logo Displayer Counter Top Unit

Gardner-Westcott also has a great way to showcase our very
popular line of emblem stamped hex caps. Now your customers
can see first hand the exceptional quality of each hand stamped
emblem displayed on a green plastic stand that measures 7" high
x 7" wide with a 3" base and can be placed in a highly visible area
on your counter top. Each logo hex cap is identified with white
letters clearly showing the Chevy Bowtie, Chevy SS, Chevy RS,
Pontiac, Pontiac GT, Pontiac GTO, 350, 454, Oldsmobile Rocket,
Chrysler Pentastar, Chrysler Mopar, Hemi Mopar, Dodge Ram,
Ford Oval, Ford Vintage V-8, Mustang Pony, Flame and Skull.
And we have a added a few head styles to round out the display
like Hex Caps Chrome Plated, Hex Caps Polished Stainless Steel,
Allen Head Chrome Plated, Allen Head Stainless Steel Polished,
12 Point Chrome Plated, Button Head Allen Chrome Plated,

Torx Button Head Chrome Plated and Flat Head Allen Chrome Plated.

Adapter
J9025 1/8" x 1/8" Adapter (3)

Straight Hose Barb - Male Pipe
J9026 3/16" Hose 1/8" Pipe M.H.B.P. (3)
J9027 1/4" Hose 1/8" Pipe M.H.B.P. (3)
J9028 5/16" Hose 1/8" Pipe M.H.B.P. (3)
J9029 3/8" Hose 1/8" Pipe M.H.B.P. (3)
J9030 3/8" Hose 1/4" Pipe M.H.B.P. (3)

90° Hose Barb - Male Pipe
J9031 5/16" Hose 1/8" Pipe 90° (3)
J9032 3/8" Hose 1/8" Pipe 90° (3)
J9033 3/8" Hose 1/4" Pipe 90° (3)

Brake Line Tee and Union
J9034 3/16" Brake Line Tee w/Mount (3)
J9035 3/16" Inv. Flare Union Tee 3)

Nipple
J9036 1/8" Close Nipple (3)
J9037 1/8" x 1 1/2" Long Nipple (3)

Drain Cock
J9038 1/4" Drain Cocks (3)

Male Pipe Rigid Straight Hose Barb
J9043 1/8" Hose 1/8" Pipe (3)
J9044 1/4" Hose 1/8" Pipe (3)
J9045 3/8" Hose 1/4" Pipe (3)

Brake Bleeder Screws
J9046 3/8"-24 x 1 1/2" (3)
J9047 3/8"-24 x 1 1/4" (3)
J9048 5/16"-24 x 1" (3)
J9049 1/4"-28 x 1" (3)

Logo Display Counter Top Unit
Chrome Plated and Polished
Stainless Steel Fasteners
Part # Logo Display

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P Unit Decriptions

FuLL FLOOR UNITS

J1POP-6 Ford and Mopar Engine Dress up kits - contains (80) items in
chrome and polished stainless steel (1) & (2) ea. carded kits of the following Kkits:

- e

LICENSED)
PRODUCT

Ford Chrome Hex Cap Kits Ford Stainless Steel Hex Cap Kits
Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
56255-H - 351 Cleveland Engine Dress Up Kit (1) 56255-HSP - 351 Cleveland Engine Dress Up Kit (1)
56250-H - S/B Engine Dress Up Kit 1) 56250-HSP - S/B Engine Dress Up Kit (1)
56248-H - 302 Exhaust Manifold Kit (2) 56248-HSP - 302 Exhaust Manifold Kit (2)
56246-H - 429 Intake Manifold Kit (2) 56246-HSP - 429 Intake Manifold Kt (2)
56244-H - 390 Timing Cover Kit 2) 56244-HSP - 390 Timing Cover Kit 2)
56242-H - 289 Timing Cover Kit (2) 56242-HSP - 289 Timing Cover Kit (2)
56243-H - 351 Cleveland Fuel Pump Kit (2) 56243-HSP - 351 Cleveland Fuel Pump Kit 2)
56240-H - 289, 302 Fuel Pump Kit 2) 56240-HSP - 289, 302 Fuel Pump Kit (2)
56236-H - 700-R4 Trans Pan (1986) Kit 2) 56236-HSP - 700-R4 Trans Pan (1986) Kit 2)
56235-H - C-4 Tramsmission Kit (2) 56235-HSP - C-4 Tramsmission Kit (2)
56234-H - C-6 Trans Pan Kit (2) 56234-HSP - C-6 Trans Pan Kit 2)
56232-H - 351 Cleveland & 400 Oil Pan Kit 2) 56232-HSP - 351 Cleveland & 400 Oil Pan Kit 2)
56231-H - 289, 302 Oil Pan Kit (2) 56231-HSP - 289, 302 Qil Pan Kit (2)
56230-H - Water Neck Kit 2) 56230-HSP - Water Neck Kit 2)
56227-H - 289 Aluminum Valve Cover Kit 2) 56227-HSP - 289 Aluminum Valve Cover Kit (2)
56226-H - 428 Steel Valve Cover Kit (2) 56226-HSP - 428 Steel Valve Cover Kit (2)
56225-H - 400 Steel Valve Cover Kit (2) 56225-HSP - 400 Steel Valve Cover Kit 2)
56224-H - 289 Steel Valve Cover Kit 2) 56224-HSP - 289 Steel Valve Cover Kit (2)
56223-H - 7/16 Header Bolts Kit (2) 56223-HSP - 7/16 Header Bolts Kit (2)
56222-H - 351 Cleveland Intake Manifold Kit (2) 56222-HSP - 351 Cleveland Intake Manifold Kit (2)
56221-H - 289 Intake Manifold Kit 2) 56221-HSP - 289 Intake Manifold Kit (2)

m OFFICIAL

LICENSED

m morar. | PRODUCT
MOPAR. d
Mopar Chrome Hex Cap Kits Mopar Stainless Steel Hex Cap Kits
Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
56332-H - B/B Engine Dress Up Kit 1) 56332-HSP - B/B Engine Dress Up Kit (1)
56330-H - S/B Engine Dress Up Kit (1) 56330-HSP - S/B Engine Dress Up Kit (1)
56306-H - B/B Fuel Pump Kit (2) 56306-HSP - B/B Fuel Pump Kit 2)
56305-H - S/B Water Pump Kit (2) 56305-HSP - S/B Water Pump Kit 2)
56304-H - S/B Valve Cover Kit (2) 56304-HSP - S/B Valve Cover Kit (2)
56303-H - S/B Header Bolt Kit 2) 56303-HSP - S/B Header Bolt Kit 2)
56302-H - S/B Intake Manifold Kit ) 56302-HSP - S/B Intake Manifold Kit (2)
56301-H - S/B Oil Pan Kit (2) 56301-HSP - S/B Qil Pan Kit 2)
09012 - Chrome Throttle Return Spring (2) 09012-Re - Red Throttle Return Spring (2)
09012 - Blu - Blue Throttle Return Spring (2) 09012-Blk- Black Throttle Return Spring (2)
09015 - Gold Throttle Return Spring (2) 67561-L - 11/16-18 Left Hand Jam Nuts (2)
P-31-100 - Ch. Valve Stem Covers (2) 67561-R - 11/16-18 Right Hand Jam Nuts (2)
56220-B - Ch. Bullet License Plate Kit (2) 4086 - SS. 5/16 x 1 3/8 Carb Stud Kit 2)
4083 - Ch. 5/16 x 1 3/8 Carb Stud Kit 2) 4087 - SS. 5/16 x 1 1/2 Carb Stud Kit 2)
4084 - Ch. 5/16 x 1 1/2 Carb Stud Kit (2) J9003 - 5/8 x 1/2 Straight Heater Hose (2)
57605-C - Interior Trim 4 Dr. Screw Kit (2) J9004 - 5/8 x 3/8 Straight Heater Hose (2)
57602-C - Interior Trim 2 Dr. Screw Kit (2) J9005 - 3/4 x1/2 Straight Heater Hose (2)
J9001 - 90° Heater Hose 5/8 x 1/2 (2) J9038 - 1/4 Drain Cocks (2)
J9002 - 90° Heater Hose 5/8 x 3/8 (2)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



J1POP-7 Chevy Engine Dress Up Application - contains (98) items in
chrome and polished stainless steel (1) & (2) ea. carded kits of the following:

Make a Chevy Statement with Gardner-Westcott's very popular
Chevy Bow Tie Bolts, The emblem is stamped directly onto the
head of the bolts. Available in our Show Chrome Plated version ( ﬂ

or Polished Stainless Steel.
Chrome Plated Hex Cap Kits

Kit Part # Description Qty. of cards
56490-H - S/B Chevy Engine Dress Up Kit (1)
56465-H - Oil Pan Bolts S/B & LT-1 Kit (1)
56485-H - Steel Valve Covers B/B Kit (1)
56468-H - Water Pump S/B Short Kit (1)
56464-H - Timing Cover Kit (1)
56484-H - Bell Housing Kit 1)
4083 - 5/16 x 1 3/8 Carb Stud Kit (1)
4084 - 5/16 x 1 1/2 Carb Stud Kit (1)
09112 - Chrome Throttle Return Springs 3)
56220 - License Plate Kit (1)
56461-H - Header Bolts Kit (1)
56418-H - S/B Header Bolts 1" Long Kit (1)
56477-H - Exhaust Manifold w/ Flat Washers Kit (1)
56469-H - Intake Manifold S/B Kit (1)
H= Hex Caps

Chrome Plated

Polished Stainless Steel Hex Cap Kits

Kit Part # Description Qty. of cards
56490-HSP - S/B Chevy Engine Dress Up Kit (1)
56465-HSP - S/B & LT-1 Oil Pan Bolts Kit (1)
56485-HSP - B/B Steel Valve Covers Kit 1)
56468-HSP - S/B Water Pump Short Kit (1)
56464-HSP - Timing Cover Kit (1)
56484-HSP - Bell Housing Kit (1)
56461-HSP - S/B Header Bolt 3/4' Kit (1)
56477-HSP - Exhaust Manifold Kit (1)
56469-HSP - S/B Intake Manifold Kit (1)
4086 - 1 3/8 Stainless Steel Carb Kit (1)
4084 - 1 1/2 Stainless Steel Carb Kit (1)

09113 - Stainless Steel Throttle Return Spring 3)

HSP= Hex Caps
Stainless Steel
Polished

Chrome Chevy Bow Tie Hex Cap Kits

Kit Part # Description Qty. of cards
10-56490-H - S/B Chevy Engine Dress Up Kit (1)
10-56495-H - LT-1 Engine Dress Up Kit (1)
10-56465-H - S/B Oil Pan Bolts Kit (2)
10-56463-H - S/B Valve Cover Steel Kit (2)
10-56468-H - S/B Short Water Pump Kit (2)
10-56467-H - S/B Extended Water Pump Kit (2)
10-56464-H - Timing Cover Kit (2)
10-56400-H - Timing Cover LT-1 Kit (2)

10-56466-H - S/B Valve Cover Aluminum Kit (2)
10-56478-H - Coil Mt. to Blk. & Flat Washer Kit  (2)

10-56461-H - S/B Header Bolt Kit (1)
10-56418-H - S/B Header Bolt 1' Long Kit (1)
10-56477-H - Exhaust Manifold Kit (2)
10-56469-H - S/B Intake Manifold Kit (2)

P.O.P.

Unit Descriptions
FULL FLOOR UNITS

Polished Chrome Allen Head Screw Kits

Kit Part # Description Qty. of cards .
56490-P - S/B Chevy Engine Dress Up Kit 1) o
56465-P - Oil Pan Bolts S/B & LT-1 Kit (1) o
56485-P - Valve Covers B/B Kit (1)
56468-P - Water Pump S/B Short Kit (1) o — Li
56464-P - Timing Cover Kit (1) LICENSED PRODUCT
56484-P - Bell Housing Kit (1)

56220-B - Bullet License Plate Kit (
56477-P - Exhaust Manifold w/ Flat Washers Kit (1)
56469-P - Intake Manifold S/B Kit (1)

P= Allen Screws
Polished Chrome
Plated

Polished Stainless Steel Allen Head Screw Kits

Kit Part # Description Qty. of cards
56490-SSP - S/B Chevy Engine Dress Up Kit (1)
56465-SSP - S/B & LT-1 Oil Pan Bolts Kit (1)
56485-SSP - B/B Valve Covers Kit (1)
56468-SSP - S/B Water Pump Short Kit (1)
56464-SSP - Timing Cover Kit (1)
56484-SSP - Bell Housing Kit (1)

56461-SSP - S/B Header Bolt Kit
56477-SSP - Exhaust Manifold Kit
56469-SSP - S/B Intake Manifold Kit
56220-SSP - License Plate Kit

SSP= Allen Screws
Stainless Steel
Polished

Polished Stainless Bow Tie Hex Caps Kits

Kit Part # Description Qty. of cards
10-56490-HSP - S/B Chevy Engine Dress Up Kit (1)
10-56491-HSP - B/B Engine Dress Up Kit (1
10-56465-HSP - S/B Oil Pan Bolts Kit (2)
10-56463-HSP - S/B Valve Cover Steel Kit (2)
10-56468-HSP - S/B Short Water Pump Kit (2)
10-56467-HSP - S/B Extended Water Pump Kit (2)
10-56464-HSP - Timing Cover Kit 2
10-56484-HSP - Bell Housing Kit (2)
10-56466-HSP - S/B Valve Cover Aluminum Kit ~ (2)
10-56401-HSP - License Plate Bolt Kit (2)
10-56461-HSP - S/B Header Bolt Kit (1)
10-56418-HSP - S/B Header Bolt 1' Long Kit 1)
10-56477-HSP - Exhaust Manifold Kit (2)
10-56469-HSP - S/B Intake Manifold Kit (2)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P Unit Decriptions

FuLL FLOOR UNITS

J1POP-8 Chevy Bow Tie & Ford Oval Stamped Fastener Kits - contains
(89) items in chrome and stainless steel (2 & 3) ea. carded kits of the following:

Chevy Bow Tie Hex Cap Chrome Plated and Stainless Steel Kits

Engine Dress-Up Chrome Kits Bow Tie Chrome Kits Bow Tie Stainless Kits
Kit Part # Description Qty. of kit part # Description Qty. of - it part # Description Qy. of
cards cards cards
10-56490-H - S/B Engine Set (2) X-10-11206 - 1/4-20 x 1/2 (3) | X-10-77206 - 1/4-20 X 1/2 (3)
10-56464-H - Front Cover (3) X-10-11210 - 1/4-20 x 3/4 (3) | X-10-77210 - 1/4-20 x 3/4 (3)
10-56456-H - Short Fan Spacer Bolts (3) X-10-11214 - 1/4-20 x 1 (3) | X-10-77214 - 1/4-20 x 1 (3)
10-56460-H - S/B Fuel Pump (2) X-10-11218 - 1/4-20 x 1 1/4 (3) | X-10-77218 - 1/4-20x 1 1/4  (3)
10-56461-H - Header Bolts (2) X-10-11220 - 1/4-20 x 1 1/2 (3) | X-10-77220 - 1/4-20x 1 1/2  (3)
10-56469-H - Intake Manifold (2) X-10-11224 - 1/4-20 x 2 (3) | X-10-77224 - 1/4-20 x 2 (3)
10-56465-H - S/B & LT-1 Qil Pan (3) X-10-11274 - 5/16-18 x 3/4 (3) | X-10-77274 - 5/16-18 x 3/4 (3)
10-56474-H - Trans Pan with Washers  (2) | X-10-11280 - 5/16-18 x 1 (3) | X-10-77280 - 5/16-18 x 1 (3)
10-56463-H - Steel Valve Cover (3) X-10-11284 - 5/16-18 x 1 1/4 (3) | X-10-77284 - 5/16-18 x 1 1/4 (3)
10-56471-H - Water Neck 45 W/F/W (3) X-10-11286 - 5/16-18 x 1 1/2  (3) | X-10-77286 - 5/16-18 x 1 1/2 (3)
10-56468-H - Water Pump Short (3) X-10-11290 - 5/16-18 x 2 (3) | X-10-77290 - 5/16-18 x 2 (3)
10-56401-H - License Plate Kit (2) X-10-11326 - 3/8-16 x 3/4 (3) | X-10-77326 - 3/8-16 x 3/4 (3)
X-10-11330 - 3/8-16 x 1 (3) | X-10-77330 - 3/8-16 x 1 (3)
X-10-11334 - 3/8-16 x 1 1/4 (3) | X-10-77334-3/8-16 x11/4  (3)
X-10-11336 - 3/8-16 x 1 1/2 (3) | X-10-77336- 3/8-16 x 1 1/2 (3)
X-10-11340 - 3/8-16 x 2 (3) | X-10-77340 - 3/8-16 x 2 (3)

Ford Oval Hex Cap Chrome Plated and Stainless Steel Kits

Engine Dress-Up Chrome Kits Ford Oval Chrome Kits Ford Oval Stainless Kits
Kit Part # Description Qty. of kit part # Description Qty. of it part # Description Qty. of
cards cards cards
11-56250-H - S/B Engine Set (2) | X-11-11206 - 1/4-20 x 1/2 (3) | X-11-77206 - 1/4-20 X 1/2 (3)
11-56240-H - 282, 302 Fuel Pump (3) | X-11-11210 - 1/4-20 x 3/4 (3) | X-11-77210 - 1/4-20 x 3/4 (3)
11-56223-H - 7/16 Header Bolts (2) | X-11-11214 - 1/4-20 x 1 (3) | X-11-77214 - 1/4-20 x 1 (3)
11-56231-H - 289, 302 Qil Pan (3) | X-11-11218 - 1/4-20 x 1 1/4 (3) | X-11-77218 - 1/4-20x 1 1/4  (3)
11-56242-H - 289 Timing Cover (3) | X-11-11220 - 1/4-20 x 1 1/2 (3) | X-11-77220 - 1/4-20x 1 1/2  (3)
11-56235-H - C-4 Transmission (3) | X-11-11224 - 1/4-20 x 2 (3) | X-11-77224 - 1/4-20 x 2 (3)
11-56224-H - 289 Steel Valve Cover (3) | X-11-11274 - 5/16-18 x 3/4 (3) | X-11-77274 - 5/16-18 x 3/4 (3)
11-56226-H - 428 Steel Valve Cover (3) | X-11-11280 - 5/16-18 x 1 (3) | X-11-77280 - 5/16-18 x 1 (3)
11-56230-H - Water Neck (3) | X-11-11284 - 5/16-18 x 1 1/4 (3) | X-11-77284 - 5/16-18 x 1 1/4 (3)
11-56260-H - 74 to 78 Mustang Front End (3) | X-11-11286 - 5/16-18 x 1 1/2  (3) | X-11-77286 - 5/16-18 x 1 1/2 (3)
11-56227-H - 289 Aluminum Valve Cover (3) | X-11-11290 - 5/16-18 x 2 (3) | X-11-77290 - 5/16-18 x 2 (3)
11-56233-H - 390, 428 Oil Pan (3) | X-11-11326 - 3/8-16 x 3/4 (3) | X-11-77326 - 3/8-16 x 3/4 (3)
11-56248-H - 302 Exhaust Manifold (3) | X-11-11330 - 3/8-16 x 1 (3) | X-11-77330 - 3/8-16 x 1 (3)
X-11-11334 - 3/8-16 x 1 1/4 (3) | X-11-77334 - 3/8-16 x 1 1/4  (3)
X-11-11336 - 3/8-16 x 1 1/2 (3) | X-11-77336 - 3/8-16 x 1 1/2  (3)
X-11-11340 - 3/8-16 x 2 (3) | X-11-77340 - 3/8-16 x 2 (3)

When limited space is a commodity and you want your products to be organized,
easy to maintain and reordering to be a shap. Than our Point of Purchase
Product Display Floor Units will meet your requirements and more.

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P. Unit Descriptions

FuLL FLOOR UNITS

EesSass

J1POP-9 Chevy, Ford and Chrysler Stamped Fastener Kits with various
Chrome Plated Brass Fittings - this unit contains (77) items (1-3) ea. carded
kits of the following:

- B

Chevy Bow Tie Chrome Kits Ford Oval Chrome Kits
Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
10-56490-H - S/B w/Headers Engine Dress Up Kit (2) 11-56250-H - S/B w/Headers Engine Dress Up Kit (2)
10-56491-H - B/B w/headers Engine Dress Up Kit (2) 11-56240-H - 282, 302 Fuel Pump Kit (3)
10-56488-H - B/B Header Bolt Kit (3) 11-56223-H - 7/16 Header Bolt Kit (3)
10-56487-H - B/B Oil Pan Kit (3) 11-56231-H - 289, 302 Oil Pan Kit (3)
10-56486-H - B/B Aluminum Valve Cover Kit 3) 11-56242-H - 289 Timing Cover Kit (3)
10-56467-H - S/B Extended Water Pump Kit (3) 11-56235-H - C-4 Transmission Pan Cover Kit (3)
10-56479-H - B/B Intake Manifold Kit (3) 11-56224-H - 289 Steel Valve Cover Kit (3)
10-56477-H - Exhaust Manifold Kit (3) 11-56226-H - 428 Steel Valve Cover Kit (3)
10-56489-H - B/B Long Valve Cover Kit (3)0 11-56230-H - Water Neck Kit (3)01
10-56464-H - S/B Timing Cover Kit (3) 11-56227-H - 289 Aluminum Valve Cover Kit (3)
10-56456-H - Fan Spacer Bolt Short Kit (3) 11-56233-H - 390, 428 Oil Pan Kit (3)
10-56460-H - S/B Fuel Pump Kit (3) 11-56248-H - 289, 302 Exhaust Manifold Kit (3)
10-56461-H - S/B Header Bolt Kit (3) 11-56260-H - 74-78 Mustang Front End Kit (1)
10-56469-H - S/B Intake Manifold Kit 3) 09012 - Chrome Plated Throttle Return Spring (2)
10-56465-H - S/B Oil Pan Kit 3) 09015 - Gold Plated Throttle Return Spring (2)
10-56466-H - S/B Aluminum Valve Cover Kit (3)
10-56471-H - S/B 45° Water Neck Kit (3)
10-56468-H - S/B Short Water Pump Kit (3) ) - -
m m OFFICIAL § '? ‘% ﬁ
LICENSED '
Yo | PRODUCT j .
Mopar Chrome Kits Chrome Plated Brass Fittings
Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
23-56330-H - S/B w/Headers Engine Dress Up Kit  (2) J9015 - 1/4 Socket Pipe Plug (2)
23-56332-H - B/B w/Headers Engine Dress Up Kit  (2) J9016 - 3/8 Socket Pipe Plug 2
23-56301-H - S/B Oil Pan Kit (3) J9017 - 1/2 Socket Pipe Plug (2)
23-56303-H - S/B Header Bolt Kit (3) J9019 - 3/8 x 1/8 Pipe Bushing (2)
23-56304-H - S/B Valve Cover Kit (3) J9020 - 3/8 x 1/4 Pipe Bushing (2)
23-56305-H - S/B Water Pump Kit (3) J9021 - 1/8 Street Elbow (2)
23-56306-H - S/B Fuel Pump Kit (3) J9025 - Adapter 1/8 x 1/8 (2)
23-56302-H - S/B Intake Manifold Kit (3) J9026 - Straight Hose Barb Male Pipe 3/16 x 1/8 (2)
23-56307-H - B/B Oil Pan Kit 3)U J9030 - Straight Hose Barb Male Pipe 3/8 x 1/4 (2)0)
23-56308-H - B/B Intake Manifold Kit (3) J9031 - 90° Hose Barb Male Pipe 5/16 x 1/8 (2)
23-56309-H - B/B Header Bolt Kit (3) J9032 - 90° Hose Barb Male Pipe 3/8 x 1/8 (2)
23-56310-H - B/B Valve Cover Kit (3) J9033 - 90° Hose Barb Male Pipe 3/8 x 1/4 (2)
23-56311-H - B/B Water Pump Kit (3) J9034 - 3/16 Brake Line Tee with Mount (2)
23-56312-H - B/B Fuel Pump Kit (3) J9035 - Inverted Flare Union Tee 3/16 (2)
Chrome Plated Brass Fittings Chrome Plated Brass Fittings
Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
J9001 - 90° Heater Hose Barb 5/8 x 1/2 (2) J9038 - 1/4 Drain Cocks (2)
J9002 - 90° Heater Hose Barb 5/8 x 3/8 (2) J9040 - Inverted Flare Male Pipe 3/16 x 1/8 (2)
J9003 - Straight Heater Hose Barb 3/8 x 1/2 (2) J9041 - Inverted Flare Female Branch Tee (2)
J9004 - Straight Heater Hose Barb 5/8 x 3/8 (2) J9044 - Male Pipe Rigid Hose Barb 1/4 x 1/8 (2)
J9005 - Straight Heater Hose Barb 3/4 x 1/2 (2) J9045 - Male Pipe Rigid Hose Barb 3/8 x 1/4 (2)
J9006 - 1/2 Hex Head Pipe Plug (2) J9047 - Brake Bleeder Screws 3/8-24 x 1 1/2 (2)
J9007 - 3/8 Hex Head Pipe Plug (2) J9048 - Brake Bleeder Screws 5/16-24 x 1 (2)
J9010 - Inverted Flare 45° Male Elbow 3/16 x 1/8 (2) J9049 - Brake Bleeder Screws 1/4-28 x 1 (2)
J9014 - 1/8 Socket Pipe Plug (2)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



COUNTER ToP UNITS

Chrome Metric Hex Cap Screw Kits (Side 1)
Kit Part # Description Qty. of cards Qty. per card
X-11725 - 5mm x 0.8 x 16 (3) (4)
X-11726 - 5mm x 0.8 x 20 (3) (4)
X-11727 - 5mm x 0.8 x 25 (3) (4)
X-11728 - 5mm x 0.8 x 30 (3) (4)
X-11729 - 5mm x 0.8 x 35 (3) (4)
X-11730 - 5mm x 0.8 x 40 (3) (4)
X-11731 - 5mm x 0.8 x 45 (3) (4)
X-11732 - 5mm x 0.8 x 50 (3) (4)
X-11738 -6mm x 1.0 x 16 (3) (4)
X-11739 - 6mm x 1.0 x 20 (3) (4)
X-11740 - 6mm x 1.0 x 25 (3) (4)
X-11741 - 6mm x 1.0 x 30 (3) (4)
Chrome Metric Hex Cap Screw Kits (Side 3)
Kit Part # Description Qty. of cards Qty. per card
X-11794 - 10mm x 1.5 x 20 (3) (3)
X-11795 - 10mm x 1.5 x 25 (3) (3)
X-11796 - 10mm x 1.5 x 30 (3) (3)
X-11797 - 10mm x 1.5 x 35 (3) (3)
X-11798 - 10mm x 1.5 x 40 (3) (3)
X-11799 - 10mm x 1.5 x 45 (3) (3)
X-11800 - 10mm x 1.5 x 50 (3) (3)
X-11835 - 12mm x 1.75 x 20 (3) (3)
X-11836 - 12mm x 1.75 x 25 (3) (3)
X-11837 - 12mm x 1.75 x 30 (3) (3)
X-11838 - 12mm x 1.75 x 35 (3) (3)
X-11839 - 12mm x 1.75 x 40 (3) (3)

nb—-‘.ﬁ

o=
e e
o, ©

P.O.P Unit Decriptions

J1POP-10 Metric Hex Cap Screws, Hex Nuts and Flat Washers
in Chrome - contains (48) items and (3) ea. carded kits of the following:

Chrome Metric Hex Cap Screw Kits (Side 2)
Kit Part # Description Qty. of cards Qty. per card
X-11742 - 6mm x 1.0 x 35 (3) (4)
X-11743 - 6mm x 1.0 x 40 (3) (4)
X-11744 - 6mm x 1.0 x 45 (3) (4)
X-11745 - 6mm x 1.0 x 50 (3) (4)
X-11773 - 8mm x 1.25 x 20 (3) (4)
X-11774 - 8mm x 1.25 x 25 (3) (4)
X-11775 - 8mm x 1.25 x 30 (3) (4)
X-11776 - 8mm x 1.25 x 35 (3) (4)
X-11777 - 8mm x 1.25 x 40 (3) (4)
X-11778 - 8mm x 1.25 x 45 (3) (4)
X-11779 - 8mm x 1.25 x 50 (3) (4)
X-11781 - 8mm x 1.25 x 60 (3) (4)
Chrome Metric Hex Cap Screw Kits (Side 4)
Kit Part # Description Qty. of cards Qty. per card
X-11840 - 12mm x 1.75 x 45 (3) (3)
X-11841 - 12mm x 1.75 x 50 (3) (3)

Chrome Metric Hex Nut Kits

Kit Part # Description Qty. of cards Qty. per card
X-15952 - 5mm x .80 (3) (6)
X-15954 - 6mm x 1.0 (3) (6)
X-15958 - 8mm x 1.25 (3) (6)
X-15962 - 10mm x 1.50 (3) (6)
X-15966 - 12mm x 1.75 (3) (4)

Chrome Metric Flat Washer Kits

Kit Part # Description Qty. of cards Qty. per card
X-23986 - 5mm (3) (10)
X-23987 - 6mm (3) (10)
X-23989 - 8mm (3) (10)
X-23990 - 10mm (3) (8)
X-23991 - 12mm (3) (8)
L
rF

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P. Unit Descriptions

FuLL FLOOR UNITS

J1POP-11 Ford Oval Stamped and Non-Stamped Hex Cap Engine
Dress Up Kits - contains (50) items in chrome and polished stainless steel
(2 & 3) ea. carded kits of the following:

Ford Oval Chrome Kits Ford Oval Stainless Steel Kits

Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
11-56250-H - S/B Engine Set Hex Caps (2) 11-56250-HSP - S/B Engine Set Hex Caps (2)
11-56240-H - 282, 302 Fuel Pump (3) 11-56240-HSP - 282, 302 Fuel Pump (3)
11-56223-H - 7/16 Header Bolts (3) 11-56223-HSP - 7/16 Header Bolts (3)
11-56231-H - 289, 302 Oil Pan (3) 11-56231-HSP - 289, 302 Oil Pan (3)
11-56242-H - 289 Timing Cover (3) 11-56242-HSP - 289 Timing Cover (3)
11-56235-H - C-4 Transmission (3) 11-56235-HSP - C-4 Transmission (3)
11-56224-H - 289 Steel Valve Cover (3) 11-56224-HSP - 289 Steel Valve Cover (3)
11-56226-H - 428 Steel Valve Cover (3) 11-56226-HSP - 428 Steel Valve Cover (3)
11-56230-H - Water Neck (3) 11-56230-HSP - Water Neck (3)
11-56260-H - 74 thru 78 Mustang Front End (3) 11-56227-HSP - 289 Aluminum Valve Cover (3)
11-56227-H - 289 Aluminum Valve Cover (3) 11-56233-HSP - 390, 428 Oil Pan (3)
11-56233-H - 390, 428 Oil Pan (3) 11-56248-HSP - 302 Exhaust Manifold (3)
11-56248-H - 302 Exhaust Manifold (3)

Engine Dress Up Kit
Part # 56250-HSP

Ford Standard Chrome Kits Ford Standard Stainless Steel Kits

Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
56250-H - S/B Engine Set Hex Caps (2) 56250-HSP - S/B Engine Set Hex Caps (2)
56240-H - 282, 302 Fuel Pump (3) 56240-HSP - 282, 302 Fuel Pump (3)
56223-H - 7/16 Header Bolts (3) 56223-HSP - 7/16 Header Bolts (3)
56231-H - 289, 302 Oil Pan (3) 56231-HSP - 289, 302 Oil Pan (3)
56242-H - 289 Timing Cover (3) 56242-HSP - 289 Timing Cover (3)
56235-H - C-4 Transmission (3) 56235-HSP - C-4 Transmission (3)
56224-H - 289 Steel Valve Cover (3) 56224-HSP - 289 Steel Valve Cover (3)
56226-H - 428 Steel Valve Cover (3) 56226-HSP - 428 Steel Valve Cover (3)
56230-H - Water Neck (3) 56230-HSP - Water Neck (3)
56260-H - 74 thru 78 Mustang Front End (3) 56227-HSP - 289 Aluminum Valve Cover (3)
56227-H - 289 Aluminum Valve Cover (3) 56233-HSP - 390, 428 Oil Pan (3)
56233-H - 390, 428 Oil Pan (3) 56248-HSP - 302 Exhaust Manifold (3)
56248-H - 302 Exhaust Manifold (3)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



COUNTER ToP UNITS

Stainless Steel Metric Hex Cap Screw Kits (Side 1)
Kit Part # Description Qty. of cards Qty. per card
X-77725 - 5mm x 0.8 x 16 (3) (4)
X-77726 - 5mm x 0.8 x 20 (3) (4)
X-77727 - 5mm x 0.8 x 25 (3) (4)
X-77728 - 5mm x 0.8 x 30 (3) (4)
X-77729 - 5mm x 0.8 x 35 (3) (4)
X-77730 - 5mm x 0.8 x 40 (3) (4)
X-77731 - 5mm x 0.8 x 45 (3) (4)
X-77732 - 5mm x 0.8 x 50 (3) (4)
X-77738 - 6mm x 1.0 x 16 (3) (4)
X-77739 - 6mm x 1.0 x 20 (3) (4)
X-77740 - 6mm x 1.0 x 25 (3) (4)
X-77741 - 6mm x 1.0 x 30 (3) (4)
Stainless Steel Metric Hex Cap Screw Kits (Side 3)
Kit Part # Description Qty. of cards Qty. per card
X-77794 - 10mm x 1.5 x 20 (3) (3)
X-77795 - 10mm x 1.5 x 25 (3) (3)
X-77796 - 10mm x 1.5 x 30 (3) (3)
X-77797 - 10mm x 1.5 x 35 (3) (3)
X-77798 - 10mm x 1.5 x 40 (3) (3)
X-77799 - 10mm x 1.5 x 45 (3) (3)
X-77800 - 10mm x 1.5 x 50 (3) (3)
X-77835 - 12mm x 1.75 x 20 (3) (3)
X-77836 - 12mm x 1.75 x 25 (3) (3)
X-77837 - 12mm x 1.75 x 30 (3) (3)
X-77838 - 12mm x 1.75 x 35 (3) (3)
X-77839 - 12mm x 1.75 x 40 (3) (3)

nb—-‘.ﬁ

o=
e e
o, ©

P.O.P Unit Decriptions

J1POP-10 Metric Hex Cap Screws, Hex Nuts and Flat Washers
in Stainless Steel - contains (48) items and (3) ea. carded kits of the following:

Stainless Steel Metric Hex Cap Screw Kits (Side 2)
Kit Part # Description Qty. of cards Qty. per card
X-77742 - 6mm x 1.0 x 35 (3) (4)
X-77743 - 6mm x 1.0 x 40 (3) (4)
X-77744 - 6mm x 1.0 x 45 (3) (4)
X-77745 - 6mm x 1.0 x 50 (3) (4)
X-77773 - 8mm x 1.25 x 20 (3) (4)
X-77774 - 8mm x 1.25 x 25 (3) (4)
X-77775 - 8mm x 1.25 x 30 (3) (4)
X-77776 - 8mm x 1.25 x 35 (3) (4)
X-77777 - 8mm x 1.25 x 40 (3) (4)
X-77778 - 8mm x 1.25 x 45 (3) (4)
X-77779 - 83mm x 1.25 x 50 (3) (4)
X-77781 - 8mm x 1.25 x 60 (3) (4)
Stainless Steel Metric Hex Cap Screw Kits (Side 4)
Kit Part # Description Qty. of cards Qty. per card
X-77840 - 12mm x 1.75 x 45 (3) (3)
X-77841 - 12mm x 1.75 x 50 (3) (3)

Stainless Steel Metric Hex Nut Kits

Kit Part # Description Qty. of cards Qty. per card
X-70952 - 5mm x .80 (3) (6)
X-70954 - 6mm x 1.0 (3) (6)
X-70958 - 8mm x 1.25 (3) (6)
X-70962 - 10mm x 1.50 (3) (6)
X-70966 - 12mm x 1.75 (3) (4)

Stainless Steel Metric Flat Washer Kits

Kit Part # Description Qty. of cards Qty. per card
X-75986 - 5mm (3) (10)
X-75987 - 6mm (3) (10)
X-75989 - 8mm (3) (10)
X-75990 - 10mm (3) (8)
X-75991 - 12mm (3) (8)
L
rF

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P. Unit Descriptions

COUNTER ToOP UNITS

J1POP-14 Ford and Ford Oval Stamped Hex Cap Engine Dress Up Kits
Contains (24) items in chrome (2 & 3) ea. carded kits of the following:

Ford Chrome Kits Ford Oval Chrome Kits
Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
56250-H - S/B Engine Dress Up Set (2) 11-56221-H - 289, 302 Intake Manifold (3)
56221-H - 289, 302 Intake Manifold Kit (3) 11-56240-H - 282, 302 Fuel Pump (3)
56240-H - 282, 302 Fuel Pump Kit (3) 11-56223-H - 7/16 Header Bolts (3)
56223-H - 7/16 Header Bolts Kit (3) 11-56231-H - 289, 302 Oil Pan (3)
56231-H - 289, 302 Oil Pan Kit (3) 11-56242-H - 289 Timing Cover (3)
56242-H - 289 Timing Cover Kit (3) 11-56224-H - 289 Steel Valve Cover (3)
56224-H - 289 Steel Valve Cover Kit (3) 11-56230-H - Water Neck (3)
56230-H - Water Neck Kit (3) 09012-blk - Black Throttle Return Spring  (3)
56220-H - License Plate Kit (3) 09012-re - Red Throttle Return Spring (3)
56401-H - License Plate Bolt Kit (3) 09012-wht - White Throttle Return Spring  (3)
11-56250-H - S/B Engine Set Hex Caps 2 09012-blu - Blue Throttle Return Spring ~ (3)
09012 - Chrome Throttle Return Spring (3)

FuLL FLoOOR UNITS

J1POP-15 Ford Oval Stamped Hex Cap Engine Dress Up Kits
Contains (63) items in chrome (2 & 3) ea. carded kits of the following:

Ford Oval Chrome Kits

Kit Part # Description Qty. of cards Kit Part # Description Qty. of cards
11-56256-H - 400 w/St'rd Exhaust Eng. Dress Up Kit (2) X-11-11206 - 1/4-20 x 1/2 (3)
11-56255-H - 351 Cleveland Engine Dress Up Kit (2) X-11-11208 - 1/4-20 x 5/8 (3)
11-56254-H - 429, 460 w/Headers Eng. Dress Up Kit (2) X-11-11210 - 1/4-20 x 3/4 (3)
11-56253-H - 390, 428 w/Headers Eng. Dress Up Kit (2) X-11-11212 - 1/4-20 x 7/8 (3)
11-56251-H - 289, 302 w/St'rd Exhaust Eng. Dress Up Kit (2) X-11-11214 - 1/4-20 x 1 (3)
11-56250-H - 289, 302 w/Headers Eng. Dress Up Kit (2) X-11-11218 - 1/4-20 x 1 1/4 (3)
11-56248-H - 302 Exhaust Manifold Kit 3) X-11-11222 - 1/4-20 x 1 3/4 (3)
11-56247-H - 390, 428 Intake Manifold Kit (3) X-11-11220 - 1/4-20 x 1 1/2 (3)
11-56246-H - 429 Intake Manifold Kit (3) X-11-11224 - 1/4-20 x 2 (3)
11-56242-H - 289 Timing Cover Kit (3) X-11-11270 - 5/16-18 x 1/2 (3)
11-56240-H - 289, 302 Fuel Pump Kit (3) X-11-11272 - 5/16-18 x 5/8 3)
11-56238-H - 390, 429 Fuel Pump Kit (3) X-11-11274 - 5/16-18 x 3/4 (3)
11-56237-H - 429, 460 QOil Pan Kit (3) X-11-11278 - 5/16-18 x 7/8 (3)
11-56235-H - C-4 Tramsmission Kit (3) X-11-11280 - 5/16-18 x 1 (3)
11-56234-H - C-6 Trans Pan Kit (3) X-11-11284 - 5/16-18 x 1 1/4 (3)
11-56233-H - 390, 428 Oil Pan Kit (3) X-11-11286 - 5/16-18 x 1 1/2 (3)
11-56231-H - 289, 302 Qil Pan Kit (3) X-11-11288 - 5/16-18 x 1 3/4 (3)
11-56230-H - Water Neck Kit (3) X-11-11290 - 5/16-18 x 2 (3)
11-56229-H - 429, 460 Valve Cover Kit (3) X-11-11326 - 3/8-16 x 3/4 (3)
11-56227-H - 289 Aluminum Valve Cover Kit (3) X-11-11330 - 3/8-16 x 1 (3)
11-56226-H - 428 Steel Valve Cover Kit (3) X-11-11334 - 3/8-16 x 1 1/4 3)
11-56224-H - 289 Steel Valve Cover Kit (3) X-11-11336 - 3/8-16 x 1 1/2 (3)
11-56223-H - 7/16 Header Bolts Kit (3) X-11-11338 - 3/8-16 x 1 3/4 (3)
11-56222-H - 351 Cleveland Intake Manifold Kit 3) X-11-11340 - 3/8-16 x 2 (3)
11-56221-H - 289 Intake Manifold Kit (3) X-11-55669-P3 - 14 x 3/4 3/8 Hex (3)
11-56260-H - 74-78 Mustang Front End Kit (2) X-11-56669-P7 - 14 x 3/4 7/16 Hex (3)
11-56261-H - Rack Bolts 5/8 x 4" Grade 8 (3) X-11-22276 - 5/16 X 13/16 Body Bolts (3)
11-56220-H - License Plate Stamped Ford Oval Kit (3) X-11-22284 - 5/16 X 1 1/4 Body Bolts (3)
11-56401-H - License Plate for Plastic Ford Oval Kit (3) X-11-25212 - 1/4-20 x 7/8 (3)
J1784 - License Plate Truss Slot Kit (3) X-11-25280 - 5/16-18 x 1 (3)
X-11-25330 - 3/8-16 x 1 Sems 3) X-11-25336 - 3/8-16 x 1 1/2 Sems 3)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P Unit Decriptions

FuLL FLOOR UNITS

J1POP-16 Pontiac Engine Dress Up Kits with Pontiac and GT Stamped
Hex Caps - contains (68) items in chrome (2 & 3) ea. carded kits of the following:

Engine Dress-Up Chrome Kits

Kit Part # Description %;);}jgf Kit Part # Description %g;'dzf
56500-H - S/B Engine Dress Up Kit (2) 12-56500-H - S/B Engine Dress Up Kit (2)
56522-H - 326 S/B Intake Manifold Kit (3) 12-56522-H - 326 S/B Intake Manifold Kit (3)
56521-H - 350 B/B Intake Manifold Kit (3) 12-56521-H - 350 B/B Intake Manifold Kit (3)
56533-H - Water Pump Kit (3) 12-56533-H - Water Pump Kit (3)
56515-H - 350 B/B Timing Cover Kit (3) 12-56515-H - 350 B/B Timing Cover Kit (3)
56531-H - 350, 389 QOil Pan Kit (3) 12-56531-H - 350, 389 Oil Pan Kit (3)
56532-H - 326, 453 Oil Pan Kit (3) 12-56532-H - 326, 453 Qil Pan Kit (3)
56529-H - 350 Aluminum Valve Cover Kit (3) 12-56529-H - 350 Aluminum Valve Cover Kit (3)
56528-H - 326 S/B Valve Cover Kit (3) 12-56528-H - 326 S/B Valve Cover Kit (3)
56516-H - 326 S/B Timing Cover Kit (3) 12-56516-H - 326 S/B Timing Cover Kit (3)
56519-H - Fuel Pump Kit (3) 12-56519-H - Fuel Pump Kit (3)
56505-H - B/B Engine Dress Up Kit (2) 12-56505-H - B/B Engine Dress Up Kit (2)
56220-H - License Plate Kit (3) 12-56220-H - Pontiac Logo License Plate Kit (3)
56220-B - Bullet License Plate Kit (3) 15-56500-H - S/B Engine Dress Up Kit (2)
09012 - Chrome Throttle Return Spring (3) 15-56522-H - 326 S/B Intake Manifold Kit 3)
09015 - Gold Throttle Return Spring (3) 15-56521-H - 350 B/B Intake Manifold Kit (3)
09012-black - Black Throttle Return Spring (3) 15-56533-H - Water Pump Kit (3)
09012-red - Red Throttle Return Spring (3) 15-56515-H - 350 B/B Timing Cover Kit (3)
09012-white - White Throttle Return Spring (3) 15-56531-H - 350, 389 Qil Pan Kit (3)
09012-blue - Blue Throttle Reurn Spring (3) 15-56532-H - 326, 453 Oil Pan Kit (3)
X-29591 - 3/32 x 1 1/4 Cotter Pin (3) 15-56529-H - 350 Aluminum Valve Cover Kit 3)
X-29587 - 3/32 x 1 3/4 Cotter Pin (3) 15-56528-H - 326 S/B Valve Cover Kit (3)
X-29593 - 1/8 x 1 1/4 Cotter Pin (3) 15-56516-H - 326 S/B Timing Cover Kit 3)
X-29585 - 1/8 x 1 1/2 Cotter Pin (3) 15-56519-H - Fuel Pump Kit 3)
X-29588 - 5/32 x 1 1/2 Cotter Pin (3) 15-56505-H - B/B Engine Dress Up Kit (2)
X-25212 - 1/4-20 X 7/8 Sems (3) 15-56220-H - GT Logo License Plate Kit (3)
X-25280 - 5/16-18 x 1 Sems (3) X-43567 - 3/16 Hole Plug 3)
X-25326 - 3/8-16 x 3/4 Sems (3) X-43569 - 1/4 Hole Plug 3)
X-25330 - 3/8-16 x 1 Sems (3) X-43570 - 5/16 Hole Plug 3)
X-25336 - 3/8-16 x 1 1/2 Sems (3) X-43571 - 3/8 Hole Plug ] 3)
4083 - 5/16 x 1 3/8 Carb Studs (3) X-43572 - 7/16 Hole Plug (3)
4084 - 5/16 x 1 1/2 Carb Studs (3) X-43573 - 1/2 Hole Plug (3)
4085 - 5/16 x 2 Carb Studs (3)0 X-43575 - 5/8 Hole Plug (3)
X-43576 - 3/4 Hole Plug 3)

rrrrrrrr
nnnnnnnnnnnnnnn

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P. Unit Descriptions

FULL FLOOR UNITS
J2POP-1 is a combination of J1IPOP-1 and J1POP-2 Units

Contains (96) items all in chrome (2) ea. carded kits of the following fasteners:

Chrome Hex Nuts and Hex Cap Screws

Kit Part # Description Qty. per card Kit Part # Description Qty. per card Kit Part # Description Qty. per card
J0765 - 10/24 Hex Nuts (12) J0012 - 1/4-20 x 1/2 Hex Caps (4) J0108 - 3/8-16 x 1 1/2 Hex Caps (4)
J0766 - 10/32 Hex Nuts (12) J0016 - 1/4-20 x 3/4 Hex Caps (4) J0110 - 3/8-16 x 1 3/4 Hex Caps (4)
J0768 - 1/4-20 Hex Nuts (15) J0020 - 1/4-20 x 1 Hex Caps (4) J0112 - 3/8-16 x 2 Hex Caps (4)
J0769 - 1/4-28 Hex Nuts (15) J0050 - 5/16-18 x 5/8 Hex Caps (4) J0114 - 3/8-16 x 2 1/4 Hex Caps (4)
J0770 - 5/16-18 Hex Nuts (13) J0052 - 5/16-18 x 3/4 Hex Caps (4) J0116 - 3/8-16 x 2 1/2 Hex Caps (4)
JO771 - 5/24-24 Hex Nuts (13) J0053 - 5/16-24 x 3/4 Hex Caps (4) J0118 - 3/8-16 x 2 3/4 Hex Caps (3)
JO0772 - 3/8-16 Hex Nuts (11) J0056 - 5/16-18 x 1 Hex Caps (4) J0120 - 3/8-16 x 3 Hex Caps (3)
JO773 - 3/8-24 Hex Nuts (11) J0059 - 5/16-18 x 1 1/4 Hex Caps (4) J0148 - 7/16-14 x 1 Hex Caps (3)
JO0774 - 7/16-14 Hex Nuts (7) J0065 - 5/16-18 x 2 Hex Caps (4) J0150 - 7/16-14 x 1 1/4 Hex Caps (3)
JO0775 - 7/16-20 Hex Nuts (7) J0068 - 5/16-24 x 2 1/4 Hex Caps (4) J0156 - 7/16-14 x 2 Hex Caps (3)
JO776 - 1/2-13 Hex Nuts (6) J0069 - 5/16-18 x 2 1/2 Hex Caps (4) J0184 - 1/2-13 x 1 Hex Caps (3)
JO777 - 1/2-20 Hex Nuts (6) J0098 - 3/8-16 x 3/4 Hex Caps (4) J0188 - 1/2-13 x 1 1/2 Hex Caps (3)
JO778 - 9/16-12 Hex Nuts (5) J0099 - 3/8-24 x 3/4 Hex Caps (4) J0189 - 1/2-20 x 1 1/2 Hex Caps (3)
J0779 - 9/16-18 Hex Nuts (5) J0102 - 3/8-16 x 1 Hex Caps (4) J0192 - 1/2-13 x 2 Hex Caps (3)
J0780 - 5/8-11 Hex Nuts (5) J0103 - 3/8-24 x 1 Hex Caps (4) J0196 - 1/2-13 x 2 1/2 Hex Caps (3)
J0781 - 5/8-18 Hex Nuts (5) J0106 - 3/8-16 x 1 1/4 Hex Caps (4) J0197 - 1/2-20 x 2 1/2 Hex Caps (3)
Chrome Washers, Body, Hex Sems, Spin Lock Bolts and Pipe Plugs

Kit Part # Description Qty. per card Kit Part # Description Qty. per card Kit Part # Description Qty. per card
J0852 - #10 Flat Washers  (14) J0876 - 5/16 AN Washers (11) J2229 - 5/16 x 13/16 Pol. Body Bolts  (4)
J0854 - 1/4 Flat Washers (15) J0877 - 3/8 AN Washers (10) J2230 - 5/16 x 1 1/4 Pol. Body Bolts ~ (3)
J0855 - 5/16 Flat Washers  (13) J0878 - 7/16 AN Washers (8) J2255 - 1/4-20 x 7/8 Hex Sems (4)
J0856 - 3/8 Flat Washers (11) J0879 - 1/2 AN Washers (7) J2256 - 5/16-18 x 1 Hex Sems (4)
J0857 - 7/16 Flat Washers  (10) J0880 - 9/16 AN Washers (6) J2257 - 3/8-16 x 3/4 Hex Sems (3)
J0858 - 1/2 Flat Washers (9) J0881 - 5/8 AN Washers (6) J2258 - 3/8-16 x 1 Hex Sems (3)
J0859 - 9/16 Flat Washers  (8) J2250 - 3/8 x 1 1/4 Shock Washers  (4) J2259 - 3/8-16 1 1/2 Hex Sems (3)
J0860 - 5/8 Flat Washers (8) J2251 - 1/2 x 1 1/4 Shock Washers  (4) J2261 - 1/4-20 x 5/8 Spin Locks (6)
J0865 - 1/4 Lock Washers  (15) J2252 - 1/2 x 1 7/16 Shock Washers  (4) J2262 - 5/16-18 x 3/4 Spin Locks (4)
J0866 - 5/16 Lock Washers  (13) J2253 - 5/8 x 1 1/4 Shock Washers  (4) J2263 - 5/16-18 x 1 Spin Locks (4)
J0867 - 3/8 Lock Washers  (11) J2223 - 5/16-18 x1 SS Body Bolts (1) J2264 - 5/16-18 X 1 1/4 Spin Locks  (4)
J0868 - 7/16 Lock Washers (10) J2224 - 14 x 3/4 Body Bolts 3/8 AF  (10) J2265 - 3/8-16 x 1 Spin Locks (3)
J0869 - 1/2 Lock Washers 9) J2225 - 14 x 3/4 Body Bolts 3/8 AF (9) J2266 - 5/16-24 x 1 Spin Locks (5)
J0870 - 9/16 Lock Washers  (8) J2226 - 14 x 3/4 Body Bolts 7/16 AF  (9) J2267 - 3/8 Pipe Plugs (3)
J0871 - 5/8 Lock Washers (8) J2227 - 5/16 x 13/16 Body Bolts (7) J2268 - 1/2 Pipe Plugs (2)
J0875 - 1/4 AN Washers (12) J2228 - 5/16 x 1 1/4 Body Bolts (4) J2269 - 3/4 Pipe Plugs (2)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P Unit Decriptions

FuLL FLOOR UNITS

J2POP-2 is a combination of JIPOP-3 and J1POP-4 Units
Contains (96) items all in chrome (2)ea. carded kits of the following fasteners:

Chrome Oval Slotted, Phillips Machine and Sheet Metal Screws

. L Qty. per . - Qty. per . - Qty. per
Kit Part # Description card Kit Part # Description card Kit Part # Description card
J0982 - 6/32 x 3/8 Oval Slot MS (5) J1020 - 12/24 x 1 Oval SI. MS (4) J1298 - 8 x 3/4 Oval Phillips SMS (6)
J0983 - 6/32 x 1/2 Oval SI. MS (5) J1025 - 1/4-20 x 1 Oval SI. MS (6) J1299 - 8 x 3/4 Oval Ph. # 6 SMS (6)
J0985 - 6/32 x 3/4 Oval SI. MS (5) J1036 - 5/16-24 x 1 Oval SI. MS (5) J1300 - 8 x 7/8 Oval Ph. SMS (6)
J0986 - 6/32 x 1 Oval SI. MS (5) J1157 - 10/32 x 3/8 Oval Ph. MS  (6) J1301 - 8 x 7/8 Oval Ph. # 6 SMS (6)
J0992 - 8/32 x 1/2 Oval SI. MS (7) J1159 - 10/32 x 1/2 Oval Ph. MS  (6) J1302 - 8 x 1 Oval Ph. SMS (6)
J1001 - 10/24 x 1/2 Oval SI. MS (6) J1162 - 10/24 x 3/4 Oval Ph. MS  (6) J1303 - 8 x 1 Oval Ph. # 6 SMS (6)
J1002 - 10/32 x 1/2 Oval SI. MS (6) J1163 - 10/32 x 3/4 Oval Ph. MS  (6) J1304 - 8 x 1 1/4 Oval Ph. SMS (6)
J1005 - 10/24 x 3/4 Oval SI. MS (6) J1166 - 10/24 x 1 Oval Ph. MS (6) J1305-8 x 1 1/4 Oval Ph. #6 SMS  (5)
J1006 - 10/32 x 3/4 Oval SI. MS (6) J1167 - 10/32 x 1 Oval Ph. MS (6) J1306 - 8 x 1 1/2 Oval Ph. SMS (5)
J1008 - 10/32 x 1 Oval SI. MS (6) J1182 - 1/4-20 x 3/4 Oval Ph. MS  (6) J1307 -8 x11/2 Oval Ph. #6 SMS  (5)
J1010 - 10/32 x 1 1/4 Oval SI. MS  (4) J1183 - 1/4-20 x 1 Oval Ph. MS (6) J1308 - 8 x 3/4 Oval Ph. # 6 SMS (4)
J1012 - 10/32 x 1 1/2 Oval SI. MS  (4) J1186 - 1/4-20 x 1 1/2 Oval Ph. MS (6) J1309 - 8 x 3/4 Oval Ph. SMS (6)
J1013 - 10/32 x 1 3/4 Oval SI. MS  (4) J1294 - 8 x 1/2 Oval Ph. SMS (6) J1310 - 8 x 2 Oval Ph. SMS (5)
J1014 - 10/32 x 2 Oval SI. MS (4) J1295 - 8 x 1/2 Oval Ph. SMS (6) J1311 - 8 x 2 Oval Ph. # 6 SMS (4)
J1017 - 12/24 x 1/2 Oval SI. MS (4) J1296 - 8 x 5/8 Oval Ph. SMS (6) J1315 - 10 x 3/4 Oval Ph. SMS (7)
J1019 - 12/24 x 3/4 Oval SI. MS (4) J1297 - 8 x 5/8 Oval Ph. #6 SMS  (6) J1317 - 12 x 1 Oval Ph. SMS (4)

Chrome Button Heads, Lock Nuts, Carriage Bolts and Super Washers

. - Qty. per Qty. per Qty. per
Kit Part # Description card Kit Part # Description card Kit Part # Description card
J0535 - 8/32 x 1/2 Button Heads (4) J0618 - 3/8-16 x 1 1/2 Btn. Hds. (2) J0891 - 1/4 x 1 1/2 Carriage (4)
J0546 - 10/24 x 1/2 Btn. Hds. (4) J0793 - 1/4-20 Lock Nuts (8) J0901 - 5/16 x 1 Carriage (4)
J0547 - 10/32 x 1/2 Btn. Hds. 4) J0794 - 1/4-28 Lock Nuts (8) J0903 - 5/16 x 1 1/2 Carriage (4)
J0550 - 10/24 x 3/4 Btn. Hds. (4) J0795 - 5/16-18 Lock Nuts (8) J0914 - 3/8-16 x 1 Carriage (4)
J0551 - 10/32 x 3/4 Btn. Hds. (4) J0796 - 5/16-24 Lock Nuts (8) J0917 - 3/8-16 x 2 Carriage (4)
J0564 - 1/4-20 x 1/2 Btn. Hds. (4) J0797 - 3/8-16 Lock Nuts (6) J0918 - 3/8 x 2 1/2 Carriage (3)
J0568 - 1/4-20 x 3/4 Btn. Hds. (4) J0798 - 3/8-24 Lock Nuts (6) J0926 - 7/16-14 x 1 1/4 Carriage (3)
J0572 - 1/4-20 x 1 Btn. Hds. (4) J0799 - 7/16-14 Lock Nuts (5) J0928 - 7/16-14 x 1 3/4 Carriage (3)
J0574 - 1/4-20 x 1 1/4 Btn. Hds. (4) J0800 - 7/16-20 Lock Nuts (5) J0938 - 1/2-13 x 1 3/4 Carriage (3)
J0588 - 5/16-18 x 3/4 Btn. Hds. (4) J0801 - 1/2-13 Lock Nuts (5) J2271 - 3/16 x 1 Super Washers (5)
J0589 - 5/16-24 x 3/4 Btn. Hds. 4) J0802 - 1/2-20 Lock Nuts (5) J2272 - 1/4 x 1 Super Washers (5)
J0592 - 5/16-18 x 1 Btn. Hds. (4) J0803 - 9/16-12 Lock Nuts (4) J2273 - 5/16 x 1 1/8 Super Washers  (5)
J0593 - 5/16-24 x 1 Btn. Hds. (4) J0804 - 9/16-18 Lock Nuts (4) J2274 - 5/16 x 1 1/2 Super Washers  (4)
J0596 - 5/16-18 x 1 1/2 Btn. Hds.  (3) J0805 - 5/8-11 Lock Nuts (4) J2275 - 3/8 x 1 1/2 Super Washers (4)
J0610 - 3/8-16 x 3/4 Btn. Hds. (4) J0806 - 5/16-16 Lock Nuts (4) J2276 - 7/16 x 1 Super Washers (6)
J0614 - 3/8-16 x 1 Btn. Hds. (4) J0888 - 1/4 x 3/4 Carriage w/HN (4) J2277 - 1/2 x 1 1/4 Super Washers (6)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



P.O.P. Unit Descriptions

FULL FLOOR UNITS
J2POP-3 is a Product Display Unit of Polished Stainless Steel

Contains (96) items of (1) ea. carded kits of the following fasteners:

Polished Stainless Steel Hex Caps, Hex Nuts, Button Head Allen Screws, Flat Washers,
Nylon Lock Nuts and Oval Phillips Sheet Metal Screws

Kit Part # Description pe?;[:);rd Kit Part # Description pe?f;‘grd
J7000 - 1/4-20 x 1/2 Hex Caps (7) J7048 - 10/32 x 1/2 Button Head Allens (8)
J7001 - 1/4-20 x 3/4 Hex Caps (7) J7049 - 10/24 x 3/4 Button Head Allens (7)
J7002 - 1/4-20 x 1 Hex Caps (7) J7050 - 10/32 x 3/4 Button Head Allens (7)
J7003 - 5/16-18 x 5/8 Hex Caps (6) J7051 - 1/4-20 x 1/2 Button Head Allens (6)
J7004 - 5/16-18 x 3/4 Hex Caps (6) J7052 - 1/4-20 x 3/4 Button Head Allens (6)
J7005 - 5/16-18 x 1 Hex Caps (6) J7053 - 1/4-20 x 1 Button Head Allens (6)
J7006 - 5/16-18 x 1 1/4 Hex Caps (6) J7054 - 1/4-20 x 1 1/4 Button Head Allens (5)
J7007 - 5/16-18 x 2 Hex Caps (5) J7055 - 5/16-18 x 3/4 Button Head Allens (5)
J7008 - 5/16-18 x 2 1/2 Hex Caps (4) J7056 - 5/16-24 x 3/4 Button Head Allens (2)
J7009 - 3/8-16 x 3/4 Hex Caps (6) J7057 - 5/16-18 x 1 Button Head Allens (4)
J7010 - 3/8-16 x 1 Hex Caps (6) J7058 - 5/16-24 x 1 Button Head Allens (2)
J7011 - 3/8-16 x 1 1/4 Hex Caps (5) J7059 - 5/16-18 x 1 1/2 Button Head Allens (4)
J7012 - 3/8-16 x 1 1/2 Hex Caps (4) J7060 - 3/8-16 x 3/4 Button Head Allens (4)
J7013 - 3/8-16 x 1 3/4 Hex Caps (4) J7061 - 3/8-16 x 1 Button Head Allens (3)
J7014 - 3/8-16 x 2 Hex Caps (4) J7062 - 3/8-16 x 1 1/2 Button Head Allens (3)
J7015 - 3/8-16 x 2 1/4 Hex Caps (4) J7063 - 3/16 Flat Washers (10)
J7016 - 3/8-16 x 2 1/2 Hex Caps (3) J7064 - 1/4 Flat Washers (10)
J7017 - 3/8-16 x 2 3/4 Hex Caps (3) J7065 - 5/16 Flat Washers (9)
J7018 - 3/8-16 x 3 Hex Caps (3) J7066 - 3/8 Flat Washers (8)
J7019 - 7/16-14 x 1 Hex Caps (4) J7067 - 7/16 Flat Washers (7)
J7020 - 7/16-14 x 1 1/4 Hex Caps (4) J7068 - 1/2 Flat Washers (6)
J7021 - 7/16-14 x 2 Hex Caps (3) J7069 - 5/8 Flat Washers (5)
J7022 - 1/2-13 x 1 Hex Caps (3) J7070 - 1/4-20 Nylon Lock Nuts (4)
J7023 - 1/2-13 x 1 1/2 Hex Caps (3) J7071 - 1/4-28 Nylon Lock Nuts (4)
J7024 - 1/2-13 x 2 Hex Caps (3) J7072 - 5/16-18 Nylon Lock Nuts (4)
J7025 - 1/2-13 x 2 1/2 Hex Caps (2) J7073 - 5/16-24 Nylon Lock Nuts (4)
J7026 - 5/16-24 x 3/4 Hex Caps (6) J7074 - 3/8-16 Nylon Lock Nuts (3)
J7027 - 5/16-24 x 2 1/4 Hex Caps (4) J7075 - 3/8-24 Nylon Lock Nuts (3)
J7028 - 3/8-24 x 3/4 Hex Caps (6) J7076 - 7/16-14 Nylon Lock Nuts (3)
J7029 - 3/8-24 x 1 Hex Caps (5) J7077 - 7/16-20 Nylon Lock Nuts (5)
J7030 - 1/2-20 x 1 1/2 Hex Caps (2) J7078 - 1/2-13 Nylon Lock Nuts (3)
J7031 - 1/2-20 x 2 1/2 Hex Caps (2) J7079 - 1/2-20 Nylon Lock Nuts (2)
J7032 - 10/24 Hex Nuts (4) J7080 - 5/8-11 Nylon Lock Nuts (2)
J7033 - 1/4-20 Hex Nuts (4) J7081 - 5/8-18 Nylon Lock Nuts (2)
J7034 - 5/16-18 Hex Nuts (4) J7082 - #8 x 1/2 Oval Phillips Sheet Metal Screws (8) \
J7035 - 3/8-16 Hex Nuts (4) J7083 - #8 x 3/4 Oval Phillips Sheet Metal Screws (8) f ﬁ
J7036 - 7/16-14 Hex Nuts (3) J7084 - #8 x 1 Oval Phillips Sheet Metal Screws (8) '@
J7037 - 1/2-13 Hex Nuts (3) J7085 - #8 x 1 1/4 Oval Phillips Sheet Metal Screws (8) ~
J7038 - 5/8-11 Hex Nuts (2) J7086 - 8 x 3/4 #6 Oval Phillips Sheet Metal Screws (6)
J7039 - 10/32 Hex Nuts (4) J7087 - 8 x 1 #6 Oval Phillips Sheet Metal Screws (6)
J7040 - 1/4-28 Hex Nuts (4) J7088 - 8 x 1 1/4 #6 Oval Phillips Sheet Metal Screws (6)
J7041 - 5/16-24 Hex Nuts (4) J7089 - 8 x 1 1/2 #6 Oval Phillips Sheet Metal Screws (6)
J7042 - 3/8-24 Hex Nuts (4) J7090 - 8/32 x 3/4 Oval Phillips Sheet Metal Screws (8)
J7043 - 7/16-20 Hex Nuts (3) J7091 - 10/32 x 1/2 Oval Phillips Sheet Metal Screws  (8)
J7044 - 1/2-20 Hex Nuts (3) J7092 - 10/32 x 3/4 Oval Phillips Sheet Metal Screws  (8)
J7045 - 5/8-18 Hex Nuts (2) J7093 - 10/32 x 1 Oval Phillips Sheet Metal Screws (8)
J7046 - 8/32 x 1/2 Button Head Allens  (8) J7094 - 10/24 x 3/4 Oval Phillips Sheet Metal Screws  (8)
J7047 - 10/24 x 1/2 Button Head Allens (8) J7095 - 12/24 x 1 Oval Phillips Sheet Metal Screws (6)

2015 © Copyright Gardner-Westcott Company 10110 Six Mile Road Northville, Michigan 48168-9426
Call us toll-free at 1-800-521-9805 or (248)-305-5100 Fax (800)-871-5110 Shop on line at http://www.gardner-westcott.com



